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KWnXw

Mathematics
(211)

Syq´¿ am¿°vkv Assk≥sa‚ v
Tutor Marked Assignment

am¿°v :20

Max. Marks: 20

\n¿t±-i-ßƒ (i) F√m tNmZy-ßƒ°pw DØcsagp-X-Ww. Hmtcm tNmZy-Øn-\pw A\p-h-Zn® am¿°pIƒ

AXmXv tNmZy-Øn\p t\sc sImSp-Øn-́ p-≠v.

Note: All questions are compulsary. The marks allotted for each question are given at same place.

(ii) DØ-c-°-S-em-kns‚ H∂mw t]Pns‚ apI-fn¬ \nß-fpsS t]cv, F≥tdmƒsa‚ v \º¿,

AI bpsS t]cv, hnjbw F∂nh Fgp-X-Ww.

Write your name enrollment numbers, AI name subject on the top of the first page of the
answersheet.

1 Xmsg sImSp-Øn´p≈hbn¬ GsX-¶nepw Hsc-Æ-Øn\v DØ-c-sa-gp-XpI 2

Answer any one out of the following questions.

a) Hcp IS-bpsS DS-a-ÿ≥ Hcp D]-t`m-‡m-hn\v Hcp j¿ v́ 749 cq]bv°v hn¬°p-∂-Xn-eqsS 7%

em`w t\Sp-∂p. j¿´ns‚ bYm¿∞ hne-sb¥v? (]mTw 8 ImWp-I)

By selling a shirt to a customer for Rs. 749 a shopkeeper earns a profit of 7%. Find the cost price of the
shirt. (See Lesson 5)

b) 44cm × 18cm Af-hp-I-fp≈ NXp-cm-Ir-Xn-bmb IS-emkv AXns‚ \of-h-iØp IqsS hf®v Hcp

knen-≠¿ BIrXn D≠m-°p-∂p. knen-≠-dns‚ hym]vXw IW-°m-°pI? (]mTw 21 ImWp-I)

A rectangular sheet of paper 44cm × 18cm is rolled along its length and a cylinder is formed. Find the
volume of the cylinder. (See Lesson 21)

2. Xmsg sImSp--Øn-´p≈h-bn¬ GsX-¶nepw Hsc-Æ-Øn\v DØ-c-sa-gp-XpI 2

Answer any one of the following questions.

a) Xmsg sImSp-Øn-́ p≈ Nn{X-Øn¬ O hrØ-tI-{μ-am-Wv. x s‚ hne IW-°m-°pI

(]mTw 15 ImWp-I)

In the below given figure, O is the centre of a circle, find the value of x.(See Lesson-15)
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b) Nn{X-Øn¬ < ABC = 69° and < ABC = 31°,  find < BDC I≠p-]nSn°p-I.

(]mTw 15 ImWp-I)

In figure, < ABC = 69° and < ABC = 31°,  find < BDC. (See Lesson-15)

3 Xmsg sImSp-Øn-́ p≈-h-bn¬ GsX-¶nepw Hsc-Æ-Øn\v DØcsagp-Xp-I. 2
Answer any one of the following questions.

a) c≠p hrØ-ß-fpsS Bc-ßƒ (radius) 9 cm, 12 cm hoX-am-Wv. c≠p hrØ-ß-fp-sSbpw

hnkvXo¿Æ-ß-fpsS XpIbv°v Xpey-amb as‰mcp hrØ-Øns‚ Bcw IW-°m-°p-I.

(]mTw 20 ImWpI)

The radius of two circles are 9cm and 12cm. Find the radius of a circle whose area is equal to the sum
of the areas of these two circles. (See Lesson-20)

b) Hcp ew_I (trapezium) Øns‚ hnkvXo¿Ww 64 cm2 BIp-∂p. CXns‚ kam-¥c hi-ßƒ

bYm-{Iaw 10cm, 6cm hoX-am-bm¬ kam-¥c hi-ßƒ XΩn-ep≈ AIew ImWpI?

(]mTw 20 ImWpI)
The area of a trapezium is 64 cm2. If its parallel sides are 10cm and 6cm, then find the distance between
the parallel sides. (See Lesson -20)

4 Xmsg sImSp-Øn-́ p-≈-h-bn¬ GsX-¶nepw Hsc-Æ-Øn\v DØcsagp-Xp-I. (4)

Answer any one out of the following questions.

a) Nn{X-Øn¬ AB, CD F∂n-h-bpsS a[y-_n-μp-hmWv ‘O’. AC = BD F∂pw AC || BD F∂pw

sXfn-bn-°p-I. (]mTw 11 ImWpI)

In the below given figure, ‘O’ is the midpoint of AB and CD. Prove that AC = BD and AC || BD.
(See Lesson-11)
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b) Nn{X-Øn¬ ΔDEFs‚ sk≥t{SmbvUv (centroid) BWv 'P'. DE \v ew_-amWv EH (EH  DF).
 DH = 9cm, DG = 7.5 cm, EP = 8 cm IqSmsX DE = FE bpw BsW-¶n¬ FH, EH, PH F∂n-h-

bpsS \ofhpw ΔDEFs‚ Np‰-fhpw IW-°m-°p-I. (]mTw 12 ImWp-I)

In the figure above, P is the centroid of ΔDEF, EH is perpendicualr to DE. If DH = 9cm, DG = 7.5 cm,
EP = 8 cm, and DE = FE. Find the length of FH, EH, PH and the perimeter of ΔDEF.

(See Lesson-12)

5 Xmsg sImSp-Øn-́ p≈hbn¬ GsX-¶nepw HscÆ-Øns‚ DØ-c-sa-gp-XpI (4)

Answer any one out of the following questions.

a) "O' tI{μ-amb Hcp hrØ-Øns‚ _mly-_n-μp-hmb "P' bn¬ \n∂pw hrØ-Øn-te°v hc-®n-

cn-°p∂ kv]¿i-tcJ (tangents) IfmWv PA bpw PB bpw. AB bpsS ew_-k-a-̀ m-Pn-bmWv OP
F∂v sXfn-bn-°p-I. (]mTw 17 ImWp-I)

From an external point P two tangents PA and PB are drawn to the circle with centre O, prove that OP
is the perpendicular bisector of AB. (See Lesson-17)

b) 30 ao‰¿ Db-c-ap≈ Hcp Sh-dns‚ apIƒ`mKw, \nc-∏mb Xd-bn¬ \n¬°p∂ as‰mcp Sh-dns‚

Nph-́ n¬ \n∂pw 60° ho£-W-tIm-Wn¬ (angle of elevation) ImW-s∏-Sp-∂p. c≠m-asØ Sh-

dns‚ apIƒ`mKw BZy-S-h-dns‚ Nph-́ n¬ \n∂pw 30° ho£-W-tIm-Wn¬ ImWp-∂p-sh-¶n¬,

Sh-dp-Iƒ XΩn-ep≈ AI-e-hpw, c≠m-asØ Sh-dns‚ Dbchpw IW-°m-°p-I.

(]mTw 23 ImWp-I)

The angle of elevation of the top of a tower 30 m high from the foot of another tower in the same plane
is 60°, and the angle of elevation of the top of the second tower from the foot of the first tower is 30°.
Find the Distance between the two towers and also the height of the other tower. (See Lesson-23)

6 Xmsg sImSp-Øn-́ p≈hbn¬ GsX-¶nepw Hcp s{]mPIv‰v Xøm-dm-°p-I. (6)

Prepare any one project out of the following projects given below.

a) \nß-fpsS Np‰p-]m-Sp≈/ {Kma-Øn-ep≈ 50 IpSpw-_-ß-fpsS P\-kw-Jy-bpw, hcp-am-\hpw IW-

°m-°p∂ Hcp k¿tΔ \S-Øp-I.

(i) Hmtcm IpSpw-_-Øn-t‚bpw AwK-ß-fpsS FÆw kqNn-∏n-°p∂ Bhr-Øn-]-́ nI frequency
table Xøm-dm-°p-I.

(ii) icm-icn IpSpw-_-h-en∏w (average family size) IW-°m-°p-I. icm-i-cn-tb-°mƒ hen-∏ap≈

G{X IpSpw-_-ßƒ D≠v.

(iii) G‰hpw Iq-Sp-X¬ kmº-Øn-I-ap≈ 10 IpSpw-_-ß-fpsS _m¿{Km^v hc-°p-I.

(]mTw 24, 25 ImWpI)
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Conduct a survey of atleast 50 households from your locality/village, regarding population and family
income.

(i) Present the data related to family members in tabular form mentioning frequencies.

(ii) Calculate the average family size. How many families are above the average family size?

(iii)  Draw the Bar graph for top 10 earning families. (See Lesson-24 and 25)

        b) Cu h¿jw \S-Øn-bn-́ p≈ Hcp {In°‰v a¬kcw \nco-£n-°p-I. c≠p Soap-I-fpsS {]I-S\w

Xmc-Xayw sNøp∂ Hcp s{]mPIv‰v dnt∏m¿ v́ Xmsg-∏-d-bp-∂-hsb Bkv]-Z-am°n Xøm-dm-°p-I.

(i) hy‡n-KX kvtImdp-I-fpsS ]´nI

(ii) Hmtcm Soan-t‚bpw icm-icn kvtIm¿

(iii) _m‰v sNbvX Hmtcm _m‰vkvam-t‚bpw d¨td-‰v

(iv) _uƒ sNbvX-h-cpsS d¨td‰v

(v) Pbn® Soans‚ _m‰vkvam-∑m-cn¬ G‰hpw IqSp-X¬ d¨ Ic-ÿ-am-°nb 5 t]cpsS d¨

kqNn-∏n-®p-sIm-≠p≈ Hcp _m¿ {Km^v hc-°p-I.

(]mTw 24, 25)

Observe a cricket match to be held in the current year. Prepare a project report indicating comparison of
performances of the two teams with respect to :

(i) data of individual scores.

(ii)  team-wise average score.

(iii)  run rate of individual batsman who did batting.

(iv)  run rate of individual bowler who did bowling.

(v) draw a bar graph displaying the 5 top scoring batsman of the winning team.

(See Lesson-24 & 25)
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imkv{Xhpw kmt¶-XnIhnZybpw
Science (212)

Syq´¿ am¿°Uv Assk≥sa‚ v
Tutor Marked Assignment

]c-am-h[n am¿°v:  20

Max. Marks: 20

Ipdn∏v: (i) F√m tNmZy-ßƒ°pw DØ-c-sa-gp-tX-≠-Xm-Wv. Hmtcm tNmZy-Øn\pw A\p-h-Zn-

®n-́ p≈ am¿°v tNmZy-tØm-sSm∏w sImSp-Øn-cn-°p-∂p.

Note: All questions are compulsory. The marks allowed for each question are given at same place.

(ii) \nß-fpsS t]cv, F≥tdmƒ \º¿, hnjbw XpS-ßnbh DØc-°-S-em-kns‚

BZy t]Pns‚ apIƒ`m-K-Ømbn Fgp-Xp-I.

Write your name, enrolment number, AI name and subject on the top of the first page of the

answer sheet.

1. Xmsg sImSp-Øn-́ p≈ GsX-¶nepw H∂ns‚ DØcw 40-̨ 60 hm°p-I-fn¬ F-gp-XpI

(2)

Answer any one out of the following four questions in about 40-60 words:

(a) {]]-©-Ønse c≠v ske-Ãn-b¬ H_vPIv‰vkv XΩn-ep≈ BI¿jW _e-Øn¬

hyXymkw hcp-Øp∂ LS-I-ßƒ GsXm-s°-bmWv? (]mTw 11 ImWp-I)

Mention the factors responsible for variation in forces of attraction between any two celestial objects in

the universe. (See Lesson-11)

(b) ssZ\w-Zn\ Pohn-X-Øn¬ \n∂p≈ c≠v DZm-l-c-W-ßƒ klnXw Xm]ob hnI-

k\w Fs¥∂v Nn{X-Øns‚ klm-b-tØmsS hni-Zo-I-cn-°p-I.

(]mTw 14 ImWpI)

Explain thermal expansion process with the help of diagram and two suitable examples from daily life.

(See Lesson 14)

2. Xmsg sImSp-Øn-́ p≈ tNmZy-ß-fn¬ GsX-¶nepw H∂ns‚ DØcw 40-̨ 60 hm°p-I-

fn¬ F-gp-Xp-I. (2)

Answer any one out of the following questions in about 40 to 60 words.

(a) Xmsg sImSp-Øn-cn-°p∂ kwbp-‡-ß-fpsS t^m¿ape Fgp-XpI

(A-[ym-bw 3 Im-WpI)

(i)  Ca2+ PO
4

3–

(ii) NH
4
+ CO

3
2–

(iii) Al3+ SO
3
2–

(iv)    C4+ Cl–
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Write the formula of the compounds. (See Lesson-3)

(i)  Ca2+ PO
4

3–

(ii) NH
4
+ CO

3
2–

(iii) Al3+ SO
3
2–

(iv)    C4+ Cl–

(b) Xmsg sImSp-Øn-cn-°p∂ cmk-{]-h¿Ø-\-ßƒ ]q¿Øn-bm-°p-I.

    (A-[ym-bw 4 Im-WpI)

Complete the following reactions. (See Lesson-4)

3. Xmsg sImSp-Øncn°p-∂-h-bn¬ GsX-¶nepw Hcp tNmZy-Øn\v 40-̨ 60 hm°p-I-fn¬

DØ-c-sa-gp-Xp-I (2)

Answer any one out of the following four questions in about 40-60 words:

(a) \ΩpsS ico-c-Ønse Nne A¨kvs]jn-ssekvUv ({]-tXy-I-X-bn-√m-Ø) Bb tImi-

ßƒ {Ia-̀ wKw aptJ\ kam\ kz`m-h-ap≈ ]p{Xn-Im-tIm-i-ßƒ D¬]m-Zn-∏n-°p-∂p.

Cu A¨kvs]jn-ssekvUv tImi-ß-fpsS t]sc-gp-Xp-I. {`qW-Ønepw {]mb-]q¿Ø-

bm-b-h-cnepw Cu tImi-ßƒ F¥n¬ \n∂v D≠m-Ip-∂p.

(A-[ym-bw 21 Im-WpI)

There are some unspecialized cells in our body which have capacity to undergo mitosis and can redivide
to produce number of identical cells. Name these types of cells and from where are these cells obtained
in an embryo and adults. (See Lesson-21)
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(b) (i) skdn-s_√w icn-bmbn {]h¿Øn-°m-Xn-cp-∂m¬ ico-c-Øns‚ GsX√mw {]h¿Ø-

\-ßsf tZmj-I-c-ambn _m[n-°pw.

(ii) akvXn-jvI-Øns‚ GXp `mK-amWv Ass\-—nI {]h¿Ø-\-ßsf \nb-{¥n-°p-∂-Xv.

(A-[ym-bw 23 Im-WpI)

(i) If the cerebellum is not functioning properly, which activities of our body would get affected?

(See lesson-23)

(ii) Which part of the brain controls all involuntary actions? (See lesson-23)

4. Xmsg sImSp-Øn-´p≈-Xn¬ \n∂v GsX-¶nepw Hcp tNmZy-Øns‚ DØcw 100-˛150

hm°p-I-fn¬ Fgp-Xp-I. (4)

Answer any one out of the following four questions in about 100-150 words:

(a) i_vZ Bib hn\n-a-b-Øn-\mbn D]-tbm-Kn-°p∂ kzX-{¥-tam, hm°p-Iƒ D]-tbm-

Kn-®p-≈-tXm, {]n‚ v sNøp-∂tXm A√mØ GsX-¶nepw D]-I-c-W-Øns‚ {]h¿Ø\w

Nn{X-Øns‚ klm-b-tØmsS hni-Zo-I-cn-°p-I. (]mTw 18 ImWp-I)

You select any one device for sound communication other than independent, oral or printed
communication and explain its working with the help of diagram. (See Lesson 18)

(b) (i) hni-ZoIcn-°pI (]mTw 4 ImWp-I)

 Explain the following-

$ AIm-WnI kwbp-‡-ßƒ°v Dcp-Inb Ah-ÿ-bn¬ sshZypX Nme-I-ß-fmbn

{]h¿Øn-°m≥ km[n-°p-∂p. F∂m¬ kl-kw-tbm-PI (tIm-hm-e‚ v) kwbp-‡-

ßƒ°v Dcp-Inb Ah-ÿ-bn¬ sshZypX Nme-I-ß-fmbn {]h¿Øn-°p-hm≥ km[n-

°p-∂n-√.

Ionic compounds conduct electricity in molten state but covalent compounds cannot conduct electricity
in molten state.

$ \m v̂Ø-eos‚ {Zh-Wm¶w (sa¬‰nßv t]mbn‚ v) 353.4K BWv. F∂m¬ tkmUnbw

t¢mssd-Uns‚ {Zh-Wm¶w 1074K BWv.
The melting point of naphthalene is 353.4K the melting point of sodium chloride is 1074K.

$ dntUmIvkv dnbm-Ivj≥ DZm-l-c-W-k-lnXw hni-Zo-I-cn-°pI

Explain Redox Reaction with example.

5. Xmsg sImSp-Øn-cn-°p∂ tNmZyØn¬ GsX-¶nepw H∂ns‚ DØcw 100-˛150 hm°p-I-

fn¬ F-gp-Xp-I. (4)

Answer any one out of the following questions in about 100-150 words.

(a) Bam-i-b-Øn-s‚bpw IpS-en-s‚bpw AIsØ Bh-c-W-Øn¬ Hcp Iq´w \o≠Xpw

s]m°w IqSn-bXpw (kvXw-̀ m-Im-cw) BbXpw koen-b-Iƒ ]pd-tØ°v X≈n-\n¬°p-

∂-Xp-amb tImi-ßƒ ImW-s∏-Sp-∂p. Cu tImi-ß-fpsS t]sc¥v? [¿aw F¥v?

(]mTw 21 Im-WpI)



45imkv{Xhpw kmt¶-XnI hnZybpw (Science)

A group of tall, elongated cells having cilia at their free ends, are found in the inner lining of the stomach
and intestine. Name these tissues these and also mention their functions in the body? (See Lesson-21)

(b) Hcp hy‡n°v amwk-t]-in-Iƒ°v thZ-\, tZl-Øn\v AIØv c‡-{km-hw, Zl-\-

°p-d-hv, AXn-i-‡-amb hb-dp-th-Z\ F∂o e£-W-ßƒ D≠v.

(A-[ymbw 32 ImWp-I)

A person is suffering from muscular pain, internal bleeding, impaired digestion and severe colic pain.

Answer the following– (See Lesson-32)

(i) Cu Akp-J-Øns‚ t]sc¥v? Akp-J-ap-≠m-°p∂ tcmKmWphns‚ t]sc¥v?

Name the disease this person is suffering from and its causative organism.

(ii) Cu tcmKw ]I-cp-∂Xv GXp hn[-Øn-emWv?

What was the possible mode of transmission of this disease?

(iii)  Cu tcmKØns\ Fßns\ {]Xn-tcm-[n°mw?

How can it be prevented?

(iv) Cu tcmKØns‚ NnIn-’bv°v GXp acp-∂p-I-fmWv tUmIvS¿am¿ \n¿t±-in-

°m-dp-≈-Xv.

What type of drugs can be suggested by a doctor for its treatment?

6. Xm-sg sIm-Sp-Øn-cn°p-∂-Xn¬ GsX-¶nepw Hcp hnj-b-sØ-°p-dn®v Hcp t{]mPIv‰v

Xøm-dm-°p-I.

Prepare any one project out of the given below. (6)

(a) Km¿lnI D]-tbm-K-ßƒ°m-bp≈ sshZypXn hnX-c-W-sØ-°p-dn®v Hcp t\m v́ Xøm-

dm-°p-I. GsX-¶nepw Hcp t]mfn¬ \n∂v \nß-fpsS apdn-bn-te-°p≈ Hcp Km¿lnI

k¿Iyq v́ Xøm-dm-°p-I. F¿Øv hb¿, tkm°-‰v, kzn®v, ^yqkv F∂n-h-bpsS [¿aw

F¥v?

CXv Xøm-dm-°p-∂-Xn-te-°mbn \nßƒ°v ]pkvX-I-ßƒ/amK-kn-\p-Iƒ/ C‚¿s\‰v

/ \nß-fpsS kb≥kv & sSIvt\m-fPn sUkv]m-®v-̨ 1 F∂n-h-bn¬ \n∂p≈ hnh-c-

ßƒ D]-tbm-Kn-°m-hp-∂-Xm-Wv.

Write a note on distribution of electric energy for household purposes. Make a household circuit that
shows current coming from a pole to your room and explain role of earth wire, socket, switch and fuse
as well. You can take help of various books/magazine/Internet as well as your Science & Technology
despatch-1.

(b) \n-ßfpsS ASp-Øp≈ kvIqtfm, tImtfPv et_m-d-́ -dntbm kμ¿in®v AhnsS D]-

tbm-Kn-°p∂ Nne cmk-h-kvXp-°sf (chemicals) ]‰n-bp≈ hnh-c-ßƒ tiJ-cn® tijw

Xmsg ]d-bp∂ tNmZy-ßƒ°v DØ-c-sa-gp-Xp-I.

Visit nearby school or college laboratory and collect information about some of the chemicals that are
used in the laboratory. Answer the following–
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(i) Hm¿Km-\nIv kwbp-‡hpw C≥ Hm¿Km-\nIv kwbp-‡hpw XΩn-ep≈ hyXymkw F¥v?

How will you differentiate between organic and inorganic chemicals?

(ii) FY-t\m-fnse ^wKvj-W¬ {Kq∏v GXv?

Name the functional group present in ethanol.

(iii) Im¿_-Wns‚ Atem-t{Sm-∏nIv cq]-ßƒ FsX√mw?

Name the allotropic forms of carbon.

(iv) B¬°-tlm-fp-Ifpw Im¿t_m-Ivkn-enIv Bkn-Up-Ifpw XΩn-ep≈ hyXymkw F¥v?

How will you differentiate between alcohols and carboxylic acids?

(v) kmNyp-td-‰Uv (]q-cn-X) sslt{Um Im¿_-Wp-Ifpw A¨km-Nyp-td-‰Uv (A-]q-cn-X) sslt{Um

Im¿_-Wp-Ifpw XΩn-ep≈ hyXym-k-ßƒ Fs¥√mw?

How will you differentiate between saturated and unsaturated hydrocarbons

(vi) CO
2 
 Hcp Hm¿Km-\nIv kwbp-‡-amtWm AtXm C≥ Hm¿Km-\nIv kwbp-‡-amtWm?

CO2 is an organic or inorganic compound?
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s]bn‚nwKv
Painting  (225)

Syq´¿ am¿°Uv Assk≥sa‚ v
Tutor Marked Assignment

]c-am-h[n am¿°v:  20

Max. Marks: 20

Ipdn∏v: (i) F√m tNmZy-ßƒ°pw DØ-c-sa-gp-tX-≠-Xm-Wv. Hmtcm tNmZy-Øn\pw A\p-h-Zn-

®n-́ p≈ am¿°v tNmZy-tØm-sSm∏w sImSp-Øn-cn-°p-∂p.

Note: All questions are compulsory. The marks allowed for each question are given at same place.
(ii) \nß-fpsS t]cv, F≥tdmƒ \º¿, hnjbw XpS-ßnbh DØc-°-S-em-kns‚

BZy t]Pns‚ apIƒ`m-K-Ømbn Fgp-Xp-I.

Write your name, enrolment number, AI name and subject on the top of the first page of the
answer sheet.

1. Xm-sg X-∂n-cn-°p-∂ tNm-Zy-ß-fn¬ G-sX-¶n-epw H-∂n-\v 40-˛60 hm-°p-I-fn¬ D-Ø-csa

-gp-Xp-I (2)
Answer any one of the following question in about 40-60 words

(a) \nß-fpsS ]mT-]p-kvX-I-Ønse Cw{]-j-W-enÃv Nn{X-Im-c-∑m-cpsS Nn{X-ßƒ \nco-

£n-°p-I. Ah¿ ]n¥p-S-cp∂ c≠v ssien-sb-°p-dn®v Fgp-Xp-I.

Observe the art work of impressionists in your text book. Write any two style of impressionism artists.

(b) GXv h¿Æ am[y-a-amWv tams\ Xs‚ cN-\-bv°mbn sXc-s™-Sp-Øn-́ p-≈Xv?

(-]mTw 6 ImWp-I)

Which medium of colours did Monet prefer to use? (See Lesson 6)

2. Xm-sg sImSpØncn-°p-∂ tNm-Zy-ß-fn¬ G-sX-¶n-epw H-∂n-\v 40˛60 hm-°p-I-fn¬

D-Ø-c-sa-gp-Xp-I (2)
Answer any one of the following question in about 40-60 word each

(a) ac-°-j-W-ßƒ, Ip∏n-Iƒ, t]∏¿ apX-emb ]mgvh-kvXp-°fpw \nd-ßfpw D]-tbm-

Kn®v c≠v hyXykvX cq]-ßƒ (design) D≠m-°p-I.

(]mTw 7 ImWpI)
Make two different design by using different materials like wooden block and papers, colours and bottles
etc. (See Lesson 7)

(b) Aaq¿Ø-Ie F∂Xv F¥mWv? AXns‚ \n¿Δ-N\w Fgp-Xp-I. (]mTw 7 ImWp-I)
Write the definition of Abstract art. (See Lesson 7)

3. Xm-sg X-∂n-cn-°p-∂ tNm-Zy-ß-fn¬ G-sX-¶n-epw H-∂v sXc-s™-SpØv 40˛60 hm-°p-I-fn¬

D-Ø-c-sa-gp-Xp-I (2)
Answer any one of the following questions in about 40-60 words.
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(a) "k¿ dnb-enkw' {]ÿm\ Ime-L-́ -sØ-°p-dn®v Fgp-Xp-I.

Write about the period of Surrealism movement. (See Lesson-7)

(b) \nß-fpsS ]mT-]p-kvX-I-Øn¬ Dƒs∏-Sp-Øn-bn-cn-°p∂ "AKkvsX dntKm-b¿' F∂

Nn{X-Im-c≥ Xs‚ s]bn‚nw-Kn¬ {]Xn-]m-Zn-®n-cn-°p∂ hnj-b-sØ-°p-dn®v Fgp-Xp-I.

(]mTw 6 ImWp-I)

Write the theme of Anguste Renoir’s painting enlisted in your text book. (See Lesson 6)

4. Xm-sg X-∂n-cn-°p-∂ tNm-Zy-ß-fn¬ G-sX-¶n-epw H-∂n-\v 100˛150 hm-°p-I-fn¬ D-Øc-sa-gp-

Xp-I (2)
Answer any one out of the following questions in about 100 to 150 words.

(a) "Iyq_n-k-Øns‚ ]nXm-hv' F∂dn-b-s∏-Sp∂Xv Bsc? F¥p-sIm≠v?

(]mTw 6 ImWpI)

Who is known as father of Cubism and why? (See Lesson 6)

(b) "Iyq_nkw F∂Xv Nn{X-I-e-bnepw in¬]-I-e-bnepw D]-tbm-Kn-°p∂ Hcp ssien

BWv. hni-Z-am-°p-I (]mTw 7 ImWp-I)

‘Cubism is a style of painting and sculpture’. (See Lesson 7)

5. Xm-sg sImSp-Øn-cn-°p∂ tNmZy-ß-fn¬ GsX-¶nepw H∂v sXc-s™-SpØv 100˛150 hm-°p-

I-fn¬ D-Øc-sa-gp-Xp-I (2)
Answer any one of the following question in about 100-150 words.

(a) "am≥ hnXv hb-en≥' F∂ ]n°m-t m-hns‚ Nn{Xw "A\-en-‰n-°¬ Iyq_nk'Øn\v

\√ Hcp DZm-l-c-W-am-Wv. Fßs\? (]mTw 7 ImWp-I)

‘Man with Violin’ done by Picasso is a fine example of Analytical Cubism. (See Lesson 7)

(b) AarX sj¿Kn-fns‚ "{_lva-Nm-cokv' F∂ Nn{X-Øn¬ {]Xn-]m-Zn-®n-cn-°p∂ hnj-

b-sØ-°p-dn®v Fgp-Xp-I.

Describe the subjects of Painting ‘Brahmacharies’ of Amrita Shergil.

6. Xm-sg sImSp-Øncn-°p-∂-h-bn¬ GsX-¶nepw H∂v sXc-s™-SpØv Hcp s{]mPIvSv

Xømdm°p-I.

Prepare any one project work as given below.

(a) kao-]-Øp≈ Hcp sse{_dn kμ¿in®v B[p-\nI Nn{X-Ie F∂ ]pkvXIw Is≠-

Øp-I. cmPm chn-h¿Ω, cho-{μ-\mY SmtKm¿, \μ-em¬ t_mkv, AarX sj¿Kn¬

apX-emb Nn{X-Im-c-∑m-cpsS Aaq¿Ø-I-ebv°v (Abstract art) DZm-l-c-W-amb Nn{X-ßƒ

sXc-s™-SpØv Hcp henb t]∏-dn¬ Nn{X-Øns‚ _me≥kv, lm¿a-Wn, sSIvÃ¿

F∂nh IW-°n-se-SpØv F√m Nn{X-ßfpw Dƒs∏-SpØn 60 hm°p-I-fn¬ Ipd-bmØ

Hcp hni-I-e\w kz¥w hm°p-I-fn¬ Fgp-Xp-I. (]mTw 6 ImWp-I)
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Visit a nearby library and locate a book of modern art. You will find examples of abstract art of famous
painters like Raja Ravi Varma, Amrita Shargil, Ravindranath Tagore and Nandalar Bose. Take an
imperial size of paper, using lines and keeping in mind the balance, hermony and texture of a picture, add
all the pictures. Analyse the same and give your view in fifty words. (See Lesson-8)

(b) \nß-fpsS ho´n¬ BtLm-jn-°p∂ c≠v NS-ßp-Iƒ a\- n-em°n 1/2 hen-∏-Øn-

ep≈ t]∏-dn¬ \nßƒ hc-°m≥ t]mIp∂ Ae-¶m-c-Øns‚ (design) cq]-tcJ \ndßƒ

D]-tbm-Kn®v at\m-l-c-ambn Xøm-dm-°p-I. Ipd-™Xv Hcp a\p-jy-cq-]hpw arK-cq-]-hp-

sa-¶nepw D]-tbm-Kn-®m-bn-cn-°Ww AXv.

Indentify any two functions celebrated at your home. Make a layout of the decoration you wouldplan to
do. The layout should be on 1/2 imperial size paper in colors. Use atleast one human and one animal
figures along with beautiful design.
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a\x-imkv{Xw
Psychology  (222)

Syq´¿ am¿°Uv Assk≥sa‚ v
Tutor Marked Assignment

]c-am-h[n am¿°v:  20

Max. Marks: 20

Ipdn∏v: (i) F√m tNmZy-ßƒ°pw DØ-c-sa-gp-tX-≠-Xm-Wv. Hmtcm tNmZy-Øn\pw A\p-h-Zn-

®n-́ p≈ am¿°v tNmZy-tØm-sSm∏w sImSp-Øn-cn-°p-∂p.

Note: All questions are compulsory. The marks allowed for each question are given at same place.
(ii) \nß-fpsS t]cv, F≥tdmƒ \º¿, hnjbw XpS-ßnbh DØc-°-S-em-kns‚

BZy t]Pns‚ apIƒ`m-K-Ømbn Fgp-Xp-I.

Write your name, enrolment number, AI name and subject on the top of the first page of the
answer sheet.

1. Xmsg sImSp-Øn-cn-°p∂ tNmZy-ß-fn¬ GsX-¶nepw HscÆ-Øn\v 40-̨ 60 hm°p-I-

fn¬ DØ-c-sa-gp-XpI (2)
Answer any one out of the following questions in about 40-60 words.

(a) Hcp DZm-l-c-W-Øns‚ klm-b-tØmsS AS® Ah-km-\hpw (closed ended) Xpd∂

(open ended) tNmZym-h-en-bpsS cq]hpw XΩn¬ th¿Xn-cn-°pI

(]mTw 2 ImWp-I)

Differentiate between closed ended and open ended form of questionnaire with the help of an example.
(See Lesson 2)

(b) AYo¿ P\\w apX¬ imco-cn-I-ambn Zp¿_-e-\m-Wv. sNdnb Imcy-ßƒ t]mepw a\-

kn-em-°m≥ Ah≥ [mcmfw ka-b-sa-Sp-°p-∂p. Ahs‚ Ah-ÿbv°v ]n∂nse Imc-

Wßƒ F¥m-bn-cn°mw? N¿® sNøp-I. (]mTw 16 ImWp-I)

Adeer is physically weak since birth. He also takes lot of time to understand small little things. What can
be the reasons behind his condition. Discuss. (Lesson 16)

2. Xmsg sImSp-Øn-cn-°p∂ tNmZy-ß-fn¬ HscÆ-Øn\v 40-̨ 60 hm°n¬ DØ-c-sa-gp-Xp-I.
(2)

Answer any one out of the following questions in about 40 to 60 words.

(a) {]mY-anI Bh-iy-ß-fn¬ kwkvIm-c-Øn-s‚bpw ]cnÿnXn-bp-sSbpw kzm[o\w N¿®

sNøpI (]mTw 8 ImWp-I)

Discuss the influence of culture and environment on primary needs. (See Lesson 8)

(b) Hgn-hm-°¬ Hgn-hm-°¬, kao-]\ Hgn-hm-°¬, kwL¿jw F∂nh Hcp DZm-l-c-W-

hp-ambn N¿® sNøp-I. (]mTw 18 ImWp-I)

Discuss the avoidance-avoidance and approach-avoidance conflict with one example each.
(See Lesson 18)
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3. Xmsg sImSp-Øn-cn-°p∂ tNmZy-ß-fn¬ Hsc-Æ-Øn\v 40˛60 hm-°p-I-fn¬ DØ-csa-gp-

Xp-I 2

Answer any one out of the following four questions in about 40-60 words:

(a) Xncp-Ø¬ ÿm]-\-ß-fnepw, am\-knI ÿm]-\-ß-fnepw Xnc°v h¿≤n-°p-∂-Xns‚

^ew F¥mWv? (]mTw 23 ImWp-I)

What is the effect of crowding on corrective institutions and psychiatric institutions?
(See Lesson 23)

(b) \nß-fpsS D‰ NßmXn hnim-e-amb kΩ¿±-Øn-em-Wv. Ahs‚ t£asØ kzm[o-

\n-°m≥ \nßƒ°v At±-lØn\v F¥v \n¿t±-i-ßƒ \¬Im≥ Ignbpw?

(]mTw 17 ImWp-I)

Your best friend is under stress. What suggestions can you give him for influencing his wellbeing?

(See Lesson 17)

4. Xmsg sImSp-Øn-cn-°p∂ tNmZy-ß-fn¬ Hsc-Æ-Øn\v 100˛150 hm-°p-I-fn¬ D-Ø-c-sa-

gp-XpI (4)
Answer any one out of the following four questions in about 100-150 words:

(a) \n-ß-fp-sS kp-lrØv hcm-\n-cn-°p∂ ]co-£bv°v \∂mbn Xøm-dm-Im-Ø-Xn-\m¬

kΩ¿±-Øn-em-Wv. Ah-fpsS Hm¿Ω h¿≤n-∏n-°m\pw, kΩ¿±sØ t\cn-Sm\pw F¥v

X{¥-ß-fmWv \nßƒ \n¿t±-in-°p-∂-Xv. (]mTw 6 ImWp-I)

Your friend is under stress because she has not prepared well for the upcoming examination. What
strategies would you suggest her to enhance her memory and with stress. (See Lesson 6)

(b) {]Xn-̀ bv°v ]T-\-k-a-bØv {i≤ tI{μo-I-cn-°p-hm≥ Ign-bp-∂n-√. Ah-fpsS a\- ns\

hyXn-N-en-∏n-°p-∂-Xn-\p≈ hyXykvX Nn¥-Iƒ Ahƒ°v hcp-∂p. a\- ns\ \nb-

{¥n-°p-∂-Xn-\pw, \nb-{¥n-°p-∂-Xn-\p-ap≈ {]m[m-\y-sØ-°p-dn®v \nßƒ°v Ah-tfmSv

Fßs\ ]d-bm≥ Ignbpw. (]mTw 27 ImWp-I)

Pratibha is not able to concentrate while studying. Different thoughts comes to her mind and distracts her.
How would you tell her about the importance of controlling and regulating her mind. (See Lesson 27)

5. Xmsg sImSp-Øn-cn-°p∂ tNm-Zy-ß-fn¬ G-sX-¶nepw Hsc-Æ-Øn\v 100˛150 hm-°p-I-fn¬

D-Ø-c-sa-gpXp-I (4)

Answer any one out of the following questions in about 100 to 150 words.

(a) kaq-l-Øn¬ {]mb-am-b-h-cpsS {]m[m\yw F¥mWv? \nß-fpsS kz¥w A\p-̀ -h-ß-

fpsS ASn-ÿm-\-Øn¬ N¿® sNøp-I. (]mTw 12 ImWpI)

What is the importance of aged people in the society? Discuss on the basis of your own experiences.
(See Lesson 12)
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(b) \nßƒ tUmIvS-dpsS ASpØv t]mIp-tºmƒ \nß-fpsS e£-W-ß-tf-bpw, {]iv\-

ß-sfbpw Ipdn®v hni-Z-amb hnh-cWw FSp-°pw. \nß-fpsS {]iv\-sØ-°p-dn®v

a\- n-em-°m≥ At±lw F¥p coXn-bmWv ]n¥p-S-cp-∂-sX∂v hni-Z-ambn N¿®

sNøp-I. (]mTw 20 ImWp-I)

When you go to the doctor he takes a detailed description of your symptoms and problems. Discuss in
detail what method he is following to understand about your problem. (See Lesson 20)

6. NphsS \¬In-bn-cn-°p∂ GsX-¶nepw t{]mP-Œv X-øm-dm-°pI

Prepare any one project out of the given below (6)

(a) \n-ß-fp-sS B-tcm-Ky-Øn¬ A¥-co£ aen-\o-I-c-W-Øns‚ ^e-sØ-°p-dn®v Hcp

dnt∏m¿ v́ Fgp-Xp-Ibpw AXv \nb-{¥n-°m-\p≈ hgn-Iƒ \n¿t±-in-°p-Ibpw sNøp-I.

(]mTw 23 ImWp-I)
Write a report on the effects of pollution on your health and suggest ways to control it. (200-300 words)

(Lesson 23)

(b) \nß-fpsS {]tZ-isØ A©v hr≤-cmb hy‡n-Isf I≠p-ap-́ p-Ibpw Ah¿ GXp

Xcw imco-cn-Ihpw ssh⁄m-\n-I-hp-amb am‰-ßƒ t\cn-Sp-∂psh∂v Is≠-Øm≥

{ian-°p-I. Cu {]iv\-ßƒ ssIImcyw sNøm≥ Ah¿°v kzoI-cn-°p-hm≥ Ign-

bp∂ Nne X{¥-ßƒ \n¿t±-in-°p-I. (]mTw 12 ImWp-I)

Meet 5 elderly individuals in your locality and try to find out what kind of physical and cognitive changes
they are facing. Suggests some strategies they can adopt to deal with these problems. (See Lesson - 12)
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Um‰m F≥{Sn Hm∏-td-j≥kv
Data Entry Operations  (229)
Syq´¿ am¿°Uv Assk≥sa‚ v

Tutor Marked Assignment

]c-am-h[n am¿°v:  20

Max. Marks: 20

Ipdn∏v: (i) F√m tNmZy-ßƒ°pw DØ-c-sa-gp-tX-≠-Xm-Wv. Hmtcm tNmZy-Øn\pw A\p-h-Zn-

®n-́ p≈ am¿°v tNmZy-tØm-sSm∏w sImSp-Øn-cn-°p-∂p.

Note: All questions are compulsory. The marks allowed for each question are given at same place.

(ii) \nß-fpsS t]cv, F≥tdmƒ \º¿, hnjbw XpS-ßnbh DØc-°-S-em-kns‚

BZy t]Pns‚ apIƒ`m-K-Ømbn Fgp-Xp-I.

Write your name, enrolment number, AI name and subject on the top of the first page of the
answer sheet.

1. X-∂n-cn-°p-∂Xn¬ G-sX-¶n-epw HscÆØn-\v D-Ø-c-sa-gp-Xp-I (2)

Answer any one of the following questions.

(a) knÃw tkm^v‰vshbdpw Bπn-t°-j≥ tkm^v‰vshbdpw X-Ωn-ep-≈ hy-Xym-kw

F-gp-Xp-I. (]mTw 1 ImWpI)

Differentiate between system software and application software. (See Lesson 1)

(b) cmPn\v kz¥-ambn Hcp Iw]yq-´¿ Akw-_nƒ (\n¿Ωn-°p-I) sNø-Ww. Iw]yq-´¿

Akw-_nƒ sNøp-∂-Xn-\m-h-iy-amb lm¿Uvsh-b¿ Ah\v hmßn-t°-≠-Xp-≠v. Iw]yq-

´¿ Akw-_nƒ sNøp-∂-Xn-\m-h-iyamb ASn-ÿm\ LS-I-ßƒ (]m¿Svkp-Iƒ)

]d™p sImSp-°p-I. Akw-_nƒ sNbvX-Xn-\p-tijw Xmsg X∂n-cn-°p-∂-h-bn¬

GXv tkm v̂‰vshb¿ BWv G‰hpw BZy-ambn C≥Ãmƒ sNtø-≠Xv?

(]mTw 2 ImWp-I)

Raj wants to assemble a computer on his own for which he wanted to purchase the hardware parts.
Suggest the basic components required (any four) to assemble the computer. After assembling which will
be the very first software he needs for installation out of the list given below:-

(a) ss{Uh¿ tkm v̂‰vshb¿/ Driver software

(b) Hm∏-td-‰nwKv knÃw tkm v̂‰vshb¿ / Operating System Software

(c) thUv t{]mk-k¿ / Word Processor

(d) B‚n sshdkv tkm v̂‰vshb¿ / Anti Virus Software (See Lesson 2)

2. Xm-sg X-∂n-cn-°p-∂ tNm-Zy-ß-fn¬ G-sX-¶n-epw H-∂n-\v D-Ø-c-sa-gp-Xp-I (2)

(a) Xmsg X∂n-cn-°p∂hbpsS tjm¿ v́I v́ Io Fgp-Xp-I.

Write the shortcut keys of the following.

ss^≥Uv, t^m¿am‰v s]bn‚¿, k_vkv{In-]v‰v, sNbv©v tIkv (]mTw 3 ImWpI)

Find, Format Painter, Subscript, Change case (See Lesson 3)
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(b) {ipXn°v Ah-fpsS Iw]yq-́ -dnse ^b-ep-Iƒ, t^mƒU-dp-Iƒ, tÃmtdPv Unssh-kp-

Iƒ F∂n-h-bpsS lb-cm¿°n-°¬ (Hm¿U-dn-ep-≈) enÃv Adn-b-Ww. ^b¬kpw

t^mƒtUgvkpw Uos‰bv¬kv Dƒs∏sS ImWp-∂-Xn-\p≈ sÃ∏p-Iƒ {ipXn°v \n¿t±-

in-°p-I. (]mTw 2 ImWpI)

Shruti wants to know the hierarchical list of files, folders and storage devices of her computer. Suggest
her the steps to view the files and folders with details. (See Lesson 2)

3. Xm-sg X-∂n-cn-°p-∂-h-bn¬ G-sX-¶n-epw H-∂n-\v D-Ø-c-sa-gp-Xp-I

(a) Fw.-F-kv. FIvk-ens‚ {][m-\-s∏´ khn-ti-j-X-Iƒ Fs¥m-s°-bmWv?

(]mTw 6 ImWp-I)

What are the main features of MS Excel? (See Lesson 6)

(b) Hcp sSIvÃns‚ aq∂v DZm-l-c-W-ß-fmWv Xmsg X∂n-cn-°p-∂-Xv. Hmtcm-∂nepw D]-

tbm-Kn-®n-cn-°p∂ Asse≥sa‚ v ssS∏v GXmWv F∂v Fgp-XpI (]mTw 4 ImWp-I)

Three examples of text is shown below:- Write the type of alignment used in the text.
(See Lesson 4)

4. X-∂n-cn-°p-∂Xn¬ G-sX-¶n-epw HscÆ-Øn\v 100 apX¬ 150 hsc hm°p-I-fn¬ D-Ø-c-sagp

Xp-I.
Answer any one out of the following questions in about 100 to 150 words.

(a) "do®v dn{Iq´vsa‚ v Iº\n'bnse F®v.-B¿. amt\-P¿ kzmXn DtZym-Km¿∞n-I-fpsS

_tbm-Um‰ Hcp kvs{]Uv jo‰n¬ kq£n-®n-cn-°p-I-bm-Wv. Pq\n-b¿ F©n-\o-b-dpsS

XkvXn-I-bn-te°v 15 DtZym-Km¿∞n-I-fmWv D≈-Xv. 4 du≠v C‚¿hyq BWv Hmtcm

DtZym-Km¿∞n°pw \¬In-bn-́ p-≈-Xv. Iº\n amt\-P¿°v kvs{]Uv jo‰n¬ Hmtcm

du≠v C‚¿hyq-hns\∏‰nbpw D≈ A`n-{]m-b-ßƒ cl-ky-ambn kq£n-°p-∂p.

kzmXn°v Xs‚ h¿°v _p°v kq£n-°p-∂-Xn-\p≈ hnhn[ am¿K-ßƒ hni-Zo-I-cn-

°p-I. (A-≤ym-bw 9)

Swati, a HR manager of “Reach Recruitment Company” has stored the candidates biodata in a spread-
sheet. There are 15 candidates for the post of Junior Engineer. Four rounds of interview were conducted
for the candidates. The manager wants to store the confidential comments from each round of the inter-
view conducted in a spreadsheet. Explain different ways to protect her workbook. (See Lesson 6, 7)

A table will help you to align
text with ease.

A table will help you to align
text with ease.

A table will help you to align
text with ease.
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(b) Nm¿´ns‚ sU^n-\n-j≥ Fgp-Xp-I. hnhn-[-Xcw Nm¿´p-I-fpsS t]sc-gp-Xp-I. GsX-¶n

epw aqs∂-Æ-sØ-∏‰n hni-Zo-I-cn-°p-I. (]mTw 8 ImWp-I)

(b) Define chart. Name the different types of charts. Explain any three types of charts.

(See Lesson 8)

5. X∂n-cn-°p-∂-Xn¬ GsX-¶nepw H∂n-s\-∏‰n 100 apX¬ 150 hm°p-I-fn¬ DØcw FgpXpI.

Answer any of the following questions (4)

(a) "kvam¿ v́ B¿ v́ {Km^nIvkv' s\ Ipdn®v Hcp sNdp hnh-cWw Fgp-Xp-I. Hcp kvam¿ v́

B¿ v́ \n¿Ωn-°p-∂-Xn\p≈ sÃ∏p-Iƒ Fgp-Xp-I. (]mTw 9 ImWp-I)

Write short notes on smart art graphics. Write different steps to create a smart art. (See Lesson 9)

(b) AAA (F-F-F) FUyq-t°-j-W¬ C≥Ãn-‰yq v́ "F¿Øv tU' BtLm-j-ß-fpsS `mK-

ambn Hcp a¬kcw kwL-Sn-∏n-°m≥ t]mIp-∂p. hnjbw BtKmf Xm]\w (Global

Warming). AXn-\p-th≠n th¿Uv t{]mk-k¿ D]-tbm-Kn®v Hcp teJ\w Xøm-dm-°p-I.

¢n]v B¿Sv, th¿Uv B¿Sv F∂nh D]-tbm-Kn®v AXns\ IqSp-X¬ BI¿j-W-am-

°p-I. (]mTw 4 ImWp-I)

“AAA Educational institute” is planning to conduct a competition for “Earth Day” Celebration. The topic

is “Global Warming”. Prepare an article using word processor for the same. Also use Clip Art and Word

Art to make it more attractive. (See Lesson 4)

(i) \nß-fpsS h¿°v sUkvIvtSm-∏n¬ "t•m_¬ t^Iv' F∂ t]cn¬ tkhv sNøp-I.

Save your work as “Global.doc” on Desktop.

(ii) kvs]¬ sN°¿ c¨ sNøp-I. H∏w {Kmadpw sN°v sNøp-I.

Run the spell checker and check the grammar.

(iii) _p≈‰vkv D]-tbm-Kn-°pI

Use Bullets.

(iv) ]mc-{Km-̂ ns‚ sse≥ kvt]knwKv 1.5 Bbn am‰pI

Change the line spacing of paragraph to 1.5.

(v) tUmIyp-sa‚n\v Hcp slU¿ BUv sNøp-I. AXn¬ \nß-fpsS t]cpw tImgvkv tImUpw

Fgp-Xp-I.

Add a header to the document and write your name and course code.

(v) apI-fn-esØ am¿Pn≥ 3 sk.ao B°n sk‰v sNøp-I. \nß-fpsS h¿°v tkhv sNbvXv

{]n‚ v FSp-°p-I.

Set the top margin to 3 cm. Save your work and take a print out. (See Lesson 4)
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6. Xm-sg X-∂n-cn-°p-∂ t{]m-P-Iv-‰pI-fn¬ GsX-¶nepw H∂v X-øm-dm-°p-I.

Prepare any one project out of the two given below. (6)

(a) XYZ kvIqƒ Hcp hm¿jnI tbmKw Pqsse 2020 c≠mw BgvN-bn¬ kwL-Sn-∏n-°p-I-

bm-Wv. AXns‚ {]n≥kn-∏m-fn\v F√m c£-I¿Øm-°ƒ°pw ao‰nw-Kn¬ ]s¶-Sp-°m-

\p≈ £W-°Øv Ab-t°-≠-Xp-≠v. AXn¬ kvIqƒ temtKmbpw kvIqƒ sI´n-S-

Øns‚ hm´¿ am¿°pw BUv sNø-Ww. (]mTw 4, 5 ImWpI)

(a) “XYZ School” is organising an “Annual Meet” in the second week of July 2020. The principal of the
school wants to send invitation cards to all the parents to attend the meet. He wanted to add the school
logo and water mark of the school building.

(i) thUv t{]mk-k¿ D]-tbm-Kn®v CtaPv BUv sNøm-\p≈ am¿Kw \n¿tZ-in-°p-I.

Suggest a suitable way to add the images using Word software.

(ii) sabn¬ sa¿Pv ̂ o®¿ D]-tbm-Kn-°p-∂-Xn-\p≈ sÃ∏p-Iƒ Fgp-Xp-Ibpw AXv D]-tbm-Kn-

°p-Ibpw sNøp-I. IqSmsX sabn¬ sa¿Pn-\v B-h-iy-amb hnhn[ Xcw tUmIyp-sa‚pIƒ

GsXm-s°-sb∂v Fgp-Xp-I.

Use Mail Merge feature and write down the steps for the same. Also mention the types of
documents required in mail merge.

(iii) A{Ukv enÃv sa¿Pv sNbvX \mev F≥h-e-∏p-Iƒ {Intb‰v sNøpI

Create four envelopes by merging an address list. (See Lesson 4, 5)

(b) "Btcm-Ky-Øns‚ {]m[m\yw' F∂ hnj-b-Øn¬ Hcp ]h¿ t]mbn‚ v {]k-t‚-j≥

X-øm-dm-°p-I. AXn¬ Xmsg ]d-bp-∂h D≠m-bn-cn-°-Ww. (Hm-tcm-∂n\pw Hmtcm

ss…Uv) (]mTw 9 ImWpI)

Create a PowerPoint presentation on “Importance of Health”. It must include the following (one slide
each): (See Lesson 9)

(i) F¥mWv BtcmKyw?

What is Health?

(ii) am\-kn-Im-tcm-Kyhpw imco-cn-Im-tcm-Kyhpw

Mental Health and Physical Health

(iii) Btcm-Ky-{]-Z-amb ̀ £W ioe-ßƒ

Healthy food habits

(iv) Btcm-Kyw kwc-£n-°p-∂-Xn¬ im-co-cnI {]h¿Ø-\-ß-fpsS ]¶v

Role of Physical activities in maintaining Health
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C¥y≥ kwkvIm-chpw ss]XrIhpw
Indian Culture and Heritage (223)

Syq´¿ am¿°vUv Assk≥sa‚ v
Tutor Marked Assignment

]c-am-h[n am¿°v : 20

Max. Marks : 20

Ipdn∏v: (i) F√m tNmZy-ßƒ°pw DØ-c-sa-gp-tX-≠-Xm-Wv. Hmtcm tNmZy-Øn\pw A\p-h-Zn-

®n-́ p≈ am¿°v tNmZy-tØm-sSm∏w sImSp-Øn-cn-°p-∂p.

Note: All questions are compulsory. The marks allowed for each question are given at same place.

(ii) \nß-fpsS t]cv, F≥tdmƒ \º¿, hnjbw XpS-ßnbh DØc-°-S-em-kns‚

BZy t]Pns‚ apIƒ`m-K-Ømbn Fgp-Xp-I.

Write your name, enrolment number, AI name and subject on the top of the first page of the
answer sheet.

1. Xm-sg \¬-In-bn-́ p-≈ G-sX-¶nep-sam-cp tNm-Zy-Øn-\v 40˛60 hm-°p-I-fn¬ D-Ø-c-sa-gpXp-I

2
Answer any one out of the following questions in about 40 to 60 words.

a) temI-Øns‚ hnhn[ `mK-ß-fpsS Ncn{Xw tcJ-s∏-Sp-Øn-bn-cn-°p-∂Xv hnhn-[-ß-fmb

{]mNo\ `mj-I-fn-em-Wv. Cu {]kvXm-h\ hni-I-e\w sNøp-I. (]mTw 2 ImWpI)

“History of many parts of the world is recorded in various classical languages.” Analyse the statement.
(See Lesson 2)

b) ""Ncn-{X-Øns‚ Du∂¬ D]-cn-h¿§-Øns‚ ]T-\-Øn¬ \n∂pw kaq-l-Øns‚ kakvX

hn`m-K-ß-fn-te°pw amdn-bn-́ p-≠v.'' Cu {]kvXm-h\ hni-I-e\w sNøpI (]mTw 3)

“Emphasis of history has shifted from the study of upper groups of society to all levels of  society.”
Analyse the statement. (See Lesson 3)

2. Xmsg sImSp-Øn-cn-°p-∂-Xn¬ GsX-¶nepw H∂n\v 40-̨ 60 hm°p-I-fn¬ DØcw Fgp-Xp-I. 2x1=2

Answer any one of the following in about 40-60 words each.

a) _p≤ aX-Øn-s‚ G-sX-¶nepw c-≠v k-hn-ti-j-X-Iƒ ]cn-tim-[n-°pI (]mTw 3)

Examine any two features of Buddhism. (See Lesson 3)

b) ssP\ aX-Øn-s‚ G-sX-¶nepw c-≠v k-hn-ti-j-X-Iƒ ]cn-tim-[n-°pI

Examine any two features of Jainism. (See Lesson 3)

3. Xmsg sImSp-Øn-cn-°p∂ GsX-¶nepw Hsc-Æ-Øn\v 40-̨ 60 hm°p-I-fn¬ DØcw Fgp-Xp-I. 2

Answer any one of the following in about 40-60 words each.

a) t]¿jy-bp-am-bp≈ kº¿°-Øns‚ GsX-¶nepw c≠v kmwkvIm-cnI kzm[o\w hni-

I-e\w sNøpI (]mTw 3)
Analyse any two cultural effects of interactions with the Persians. (See Lesson 3)
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b) C¥y≥ in¬]-I-e-bpsS hnIm-k-Øn¬ {Ko°v Ie-bpsS c≠v kzm[o-\-ßƒ hni-I-

e\w sNøpI (]mTw 3)

Analyse any two points wherein Greek art has influenced development of India sculpture.
(See Lesson 3)

4. Xmsg sImSp-Øn-cn-°p-∂-Xn¬ GsX-¶nepw Hsc-Æ-Øn\v 100-˛150 hm°p-I-fn¬ DØcw

Fgp-Xp-I.

Answer any one of the following in about 100-150 words each. 4x1=4

a) C¥y-bn¬ kq^n {]ÿm-\-Øns‚ DXv̀ hw hni-I-e\w sNøpI      (]mTw 4)
Examine the rise of Sufism in India. (See Lesson 4)

b) \mWb ]T-\-Øns‚ {]m[m\yw F¥v? `mc-X-Øns‚ a[y-Im-e-L-´-Øn¬ AXn-

\p≈ {]k‡n ]cn-tim-[n-°p-I. (]mTw 4)

How is Numismatics important to us ? Examine its relevance to medieval period of India.
(See Lesson 4)

5. Xmsg sImSp-Øn-cn-°p-∂-Xn¬ GsX-¶nepsamcp tNmZy-Øn\v 100-̨ 150 hm°p-I-fn¬ DØcw

Fgp-Xp-I. 4

Answer any one of the following in about 100-150 words each.

a) a[y-Im-e-L-́ -Øn¬ C¥y-bpsS hnhn[ {]tZ-i-ß-fn¬ hnImkw {]m]n® GsX-¶nepw

\mev \mtSm-Sn-I-e-Iƒ hni-I-e\w sNøpI (]mTw 4)

Analyse any four folk arts that developed during Medieval India in different regions. (See Lesson 4)

b) GsX-¶nepw \mev {]mtZ-in-I, B[p-\nI `mcX `mj-Iƒ hni-I-e\w sNøp-I.

(]mTw 4)

Analyse the rise of any four Modern India languages. (See Lesson 4)

6. Xmsg sImSp-Øn-cn-°p∂Xn¬ \n∂pw GsX-¶n-ep-samcp t{]mP-IvSv Xømdm-°p-I. (6)

Make any one project out the list of four projects given below:

a) 1813 F.Un bn¬ C¥y {_n´ojv D¬]-∂-ß-fpsS Hcp \√ D]-t`m-‡mhpw AkwkvIr

X hkvXp-°-fpsS hnX-c-W-°m-cp-ambn amdn. Xmsg sImSp-Øn-cn-°p∂ tNmZy-ßƒ°v

DØ-c-sa-gp-XpI (]mTw 5)

India had become an excellent consumer of British goods and a rich supplier of raw materials by the year
1813 AD. Answer the following : (See Lesson 5)

i) C¥y-bpsS ]c-º-cm-K-X-amb Ic-Iu-ie hym]m-c-Øn\v F¥p kw -̀hn®p?
What happened to flourishing trade of Indian handicrafts?

ii) ^e-Øn¬ C¥y-bpsS hym]m-c-Øn\v F¥p kw -̀hn®p?
How did trade from India virtually come to an end?

iii) ta¬∏-d™ hkvXpX Hcp bmYm¿∞y-am-°p-∂-Xn¬ KXm-K-X-Øn-s‚bpw hm¿Øm-hn-

\n-a-b-Øn-s‚bpw ]¶v Is≠-Øp-I.
Identify the role of transport and communication in making this a reality.
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b) 19-̨ mw \q‰m-≠ns‚ A¥y-Øn¬ s]mXp-P-\m-̀ n-{]mbw krjvSn-°p-∂-Xnepw hf¿Øp-

∂-Xnepw kzm[o-\n-°p-∂-Xnepw am[y-a-ßƒ i‡hpw {][m-\-s∏-́ -Xp-amb D]-I-c-W-

ambn amdn. (]mTw 5)

By the end of 19th century the press in India had become a powerful and an important instrument for
creating, spreading, influencing and sharpening public opinion. (See Lesson 5)

(i) {_n´ojv hncp≤ hnImcw Bfn-°-Øn-°p-∂-Xn¬ h¿Ø-am-\-]-{X-ß-fpsS ]¶v Is≠-

Øp-I.

Identify the role of newspapers in dissemination of anti-British feeling.

(ii) Fß-s\-bmWv C¥y≥ h¿Ø-am\ ]{X-ßƒ tZiob Ah-t_m[w hf¿Øn-bXv?

How did newspaper promote Pan-India consciousness?

(iii) Cu Ime-L-́ -Øn¬ Cw•o-jv, adm-Øn, Xan-gv, D¿Zp F∂o `mj-I-fn¬ {]kn-≤o-I-cn-

°-s∏´ GsX-¶nepw \mev h¿Ø-am-\-]-{X-ß-fpsS t]sc-gp-Xp-I.

Name four newspaper published during this period in each of these language i.e.English, Marathi, Tamil
and Urdu.
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kmaqlyimkv{Xw
Social Science (213)

Syq´¿ am¿°Uv Assk≥sa‚ v
Tutor Marked Assignment

]c-am-h[n am¿°v:  20

Max. Marks: 20

Ipdn∏v: (i) F√m tNmZy-ßƒ°pw DØ-c-sa-gp-tX-≠-Xm-Wv. Hmtcm tNmZy-Øn\pw A\p-h-Zn-

®n-́ p≈ am¿°v tNmZy-tØm-sSm∏w sImSp-Øn-cn-°p-∂p.

Note: All questions are compulsory. The marks allowed for each question are given at same place.

(ii) \nß-fpsS t]cv, F≥tdmƒ \º¿, hnjbw XpS-ßnbh DØc-°-S-em-kns‚

BZy t]Pns‚ apIƒ`m-K-Ømbn Fgp-Xp-I.

Write your name, enrolment number, AI name and subject on the top of the first page of the
answer sheet.

1. Xmsg sImSp-Øn-́ p≈ GsX-¶nepw Hcp tNmZy-Øn\v 40-̨ 60 hm°p-I-fn¬ DØ-c-sa-gp-

XpI (2)

Answer any one out of the following four questions in about 40-60 words:

(a) a\p-jy-hn-Im-k-Øns‚ \mbmSn L´w ]cn-tim-[n-°pI (]mTw 0 ImWpI)

Explain the Hunting stage of Human Development. (See Lesson 0)

(b) _nwt_SvI Kplm-Nn-{X-ßƒ hni-I-e\w sNøpI (]mTw 0 t\m-°pI)

Analyse Bhimbedka cave paintings (See Lesson 0)

2. Xmsg sImSp-Øn-cn-°p∂ tNmZy-ß-fn¬ GsX-¶nepw HscÆ-Øn\v 40-̨ 60 hm°p-I-

fn¬ DØ-c-sa-gp-Xp-I. (2)

Answer any one of the following four questions in about 40-60 words:

(a) DØ-tc-¥ybpw Z£n-tW-¥ybpw ̀ qan-im-kv{X-]-c-ambn ]c-kv]cw hn`n-∂-am-sW-¶nepw

c≠n\pw AXn-t‚-Xmb khn-ti-j-X-I-fp-≠v. GsX-¶nepw c≠p Imcy-ßƒ Fgp-Xp-

I. (]mTw 9 Im-WpI)

Though Northern India and Southern India are physiographically different from each other yet they have
their own characteristics. Write any two points. (See Lesson 9)

(b) \nß-fpsS kaq-l-Øns‚ kmaqly kmwkvIm-cnI Pohn-X-Øn¬ ag F{]-Imcw

_m[n-°p∂p?  (]mTw 10 Im-WpI)
How rain affects socio-cultural life in your community? (See lesson - 10)

3. Xmsg sImSp-Øn´p≈ GsX-¶nepw Hcp tNmZy-Øn\v 40-̨ 60 hm°p-I-fn¬ DØ-c-sa-gp-

Xp-I. (2)

Answer any one out of the following four questions in about 40-60 words:

(a) C¥y-bpsS `c-W-L-S\ XXz-Øn¬ s^U-depw (kw-bp-‡w) {]h¿Øn-bn¬ GIm-

bXz (bq-Wn-‰-dn) hpam-Wv. c≠v DZm-l-c-W-ßƒ sIm≠v Cu {]kvXm-h-\sb ]n≥Xm-

ßpI (]mTw 15 Im-WpI)
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“Constitution of India is federal in form but unitary in spirit,” Support the statement with two examples.
(Lesson - 15)

(b) GXp `c-W-L-S\m t`Z-K-Xn, Fßs\ kv{Xo im‡o-I-c-W-Øn\v hgn sXfn-bn®p.

c≠p Imc-W-ßƒ \¬In hni-Zo-I-cn-°pI.
Name the amendments elaborating their role in women empowerment in India.. (Lesson - 18)

4. Xmsg sImSp-Øn-cn-°p∂ tNmZy-ß-fn¬ GsX-¶nepw HscÆ-Øn\v 100-̨ 150 hm°p-I-

fn¬ DØ-c-sa-gp-Xp-I. (4)

Answer any one out of the following four questions in about 100-150 words:

(a) kwL-Im-ehpw AXns‚ t\ -́ßfpw hna¿i-\m-fl-I-ambn hni-I-e\w sNøp-I.

(]mTw 1 ImWp-I)
Critically examine Sangam Age and its achievement. (See Lesson 1)

(b) {]mtZ-in-I-hmZw C¥y-bpsS tZio-tbm-Zv{K-Y-\-Øn\v G‰hpw henb sh√p-hn-fn-bmbn

]cn-K-Wn-°-s∏-Sp-∂p. F∂m¬ Nne-t∏m-sg-¶nepw Cu Nn¥ bp‡n-]-c-hp-am-Wv. GsX-

¶nepw c≠v A\p-tbm-Py-amb hmZ-ßƒ sIm≠v Cu {]kvXm-h-\sb ]n≥Xm-ßp-I.

(]mTw 24 Im-Wp-I)

“Regionalism is considered as the greatest challenge to the national integration of India. But sometime,
this thinking is reasonable also”. Support the statement with any two suitable arguments.

(See Lesson—24)

5. Xmsg ImWp∂ GsX-¶nepsamcp tNmZy-Øn\v 100-̨ 150 hm°p-I-fn¬ DØ-c-sa-gp-Xp-I. (4)

Answer any one of the following questions in about 100-150 words.

(a) Xmsg X∂n-cn-°p-∂h A\p-tbm-Py-amb {]Xo-I-ßƒ D]-tbm-Kn®v C¥y-bpsS `q]-S-

Øns‚ cq]-tc-J-bn¬ AS-bm-f-s∏-Sp-Øp-I. (]mTw 9 Im-WpI)

(i) Bc-h-√n-bpsS Dbcw IqSnb sImSp-apSn

(ii) Ad-_n-°-S-en¬ ]Xn-°p∂ {][m\ \Zn-Iƒ

(iii) 20 sk‚o-ao-‰-dn¬ Xmsg hm¿jnI ag e`n-°p∂ {]tZiw

(iv) F°¬ aÆp≈ {]tZiw

On the outline map of India, mark and label the following with appropriate symbols.

(i) The highest peak of Aravali. (See Lesson 9)

(ii) Main river ending in Arab Sagar.

(iii) The area of less than 20 cm annual rainfall.

(iv) Area of Alluvial soil .

(b) {]mtZ-in-I-hmZw C¥y-bpsS tZio-tbm-Zv{K-Y-\-Øn\v G‰hpw henb sh√p-hn-fn-bmbn

]cn-K-Wn-°-s∏-Sp-∂p. F∂m¬ Nne-t∏m-sg-¶nepw Cu Nn¥ bp‡n-]-chp-am-Wv. GsX-

¶nepw c≠v A\p-tbm-Py-amb hmZ-ßƒ sIm≠v Cu {]kvXm-h-\sb ]n≥Xm-ßp-I.

(]mTw 22 Im-WpI)

Identify any two problems which you feel are hindrance in the path of free and fair elections and also
suggest remedies. (See lesson 22)
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6. Xm-sg \¬-In-bn-́ p-≈-Xn¬ \n∂pw G-sX-¶nep-sam-cp t{]mP-Œv X-øm-dm-°pI.

Make any one project out of the given below. (6)

(a) ""c≠p Ip´n-I-fp≈ Hcp kv{Xo Hcp {Kma-Øn¬ Km¿lnI tPmen sNøp-∂p. Ahƒ°v

Ip´n-Iƒ°v hnZym-`ymkw \¬I-Ww. F∂m¬ AXn¬ Ahƒ ]cm-P-b-s∏-Sp-∂p.''

Hcp hnt√Pv Hm^okv kμ¿in®v kuP-\yhpw \n¿_-‘-hp-amb hnZym-̀ ymk ]≤-Xn-

I-sfbpw, \b-ß-sfbpw kw_-‘n® hnh-c-ßƒ tiJ-cn-°p-I. hnt√Pv Hm^o-kn¬

\n∂pw tiJ-cn® hnh-c-ß-fpsS ASn-ÿm-\-Øn¬ Ip´n-Iƒ°v \n¿_-‘hpw kuP-

\y-hp-amb hnZym-`ymkw Dd-∏m-°p-∂-Xn\v hnt√Pv Hm^o-k-dpsS \n¿t±-i-ß-sf-∏‰n

Hcp dnt∏m¿ v́ Xøm-dm-°p-I.

“A woman with two children is working as a domestic help in a vilage. She wants to educate her children,
but fails.” Visit the office of the Sarpanch of the village and get information regarding various programmes
and policies for free and compulsory education. On the basis of information collected from the office of
the Sarpanch, write a report suggesting the ways to ensure the education of the children by the Sarpanch
of the village.

(b) \n-ß-fp-sS {Kma-Øn-tem, \K-c-Øn-tem, {]tZ-itØm \nh-kn-°p∂ ]Øp hy‡nIsf

∏‰n Hcp k¿sΔ \S-Øp-I. aq∂p hyXykvX {]mb-°m-cpsS enwK A\p-]mXw Is≠-

Øm≥ {ian-°p-I. Xmsg X∂n-cn-°p∂ amXr-I-bn¬ k¿sΔ \S-Øm-hp-∂-Xm-Wv.

Conduct a survey of about 10 households in your village city or locality where you live. Try to find out the
sex ratio in three broad age groups. The survey can be conducted in the following format:

]´n-I-bpsS cq]-s∏-Sp-Ønb hnh-c-ß-fpsS ASn-ÿm-\-Øn¬, hyXykvX {]mb-°m-

cpsS enwK A\p-]mXw Is≠-Øp-I. hyXykvX {]mb hn`m-K-°m-cpsS enwK A\p-

]m-X-Øns‚ {]h-WX F¥v? AXv Ipd-bp-I-bmtWm? h¿≤n-°p-I-bmtWm? e`n-®n-cn-

°p∂ hnh-c-ß-fpsS ASn-ÿm-\-Øn¬ enwKv A\p-]m-X-Øns‚ Hcp dnt∏m¿ v́ Xøm-

dm-°p-I. \ΩpsS kaq-l-Øn¬ Cu Is≠-Ø-ep-I-fpsS kzm[o-\-sa-¥m-bn-cn°pw.

On the basis of information generated in the table, find out the sex ratio according to broad age groups.
What is the trend of sex ratio according to age groups? Does it or increase? Prepare a report on status of
sex ratio based on data. What would be the impact of these findings on our society?

{Ia

\º¿

Sl.No.

hyXykvX {]mb-°m¿

(h¿j-ßƒ)

Broad Age Group
(Years)

]pcp-j-∑m-cpsS

FÆw

Number of
Males

kv{XoIfpsS

FÆw

Number of
Females

samØw kv{Xo˛

]pcpj A\p-]mXw

Percentage of total
Male-Female

enwK

A\p-]mXw

Sex
Ratio

1. 0–14

2. 15–59

3. 60+
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kmº-Øn-I-imkv{Xw

Economics (214)
Syq´¿ am¿°Uv Assk≥sa‚ v

Tutor Marked Assignment

]c-am-h[n am¿°v:  20

Max. Marks: 20

Ipdn∏v: (i) F√m tNmZy-ßƒ°pw DØ-c-sa-gp-tX-≠-Xm-Wv. Hmtcm tNmZy-Øn\pw A\p-h-Zn-

®n-́ p≈ am¿°v tNmZy-tØm-sSm∏w sImSp-Øn-cn-°p-∂p.

Note: All questions are compulsory. The marks allowed for each question are given at same place.

(ii) \nß-fpsS t]cv, F≥tdmƒ \º¿, hnjbw XpS-ßnbh DØc-°-S-em-kns‚

BZy t]Pns‚ apIƒ`m-K-Ømbn Fgp-Xp-I.

Write your name, enrolment number, AI name and subject on the top of the first page of the

answer sheet.

1. Xmsg sImSp-Øn-cn-°p∂ \mev tNmZy-ß-fn¬ GsX-¶nepw HscÆ-Øn\v 40-̨ 60 hm°p-

I-fn¬ DØ-c-sa-gp-XpI (2)

Answer any one out of the following four questions in about 40-60 words:

(a) ""km-ºØn-I im-kv-{Xw Zu¿e-`y-Øn-t‚bpw Xnc-s™-Sp-∏n-t‚bpw imkv{X-amWv''

hnh-cn-°p-I. (]mTw 1 t\m°pI)

“Economics is a science of scarcity and choice”. Explain. (See Lesson 1)

(b) km-º-Øn-I-hpw km-º-Øn-tI-X-c-hpw X-Ωn-ep-≈ hy-Xym-kw -D-Zm-l-c-W-k-ln-Xw hn-

i-Z-am-°p-I. (]mTw 2 t\m°pI)

Illustrate the difference between economic and non-economic with examples. (See Lesson 2)

2. Xmsg sImSp-Øn-cn-°p∂ tNmZy-ß-fn¬ GsX-¶nepw HscÆ-Øn\v 40-̨ 60 hm°p-I-

fn¬ DØ-c-sa-gp-Xp-I. (2)

Answer any one of the following four questions in about 40-60 words:

(a) km-º-Øn-I {]-h¿-Ø-\-ßƒ \-S-Øp-∂ H-cp N-´-°q-Sm-Wv H-cp k-º-Zv hy-h-ÿ. F-

ß-s\-sb-∂v hn-i-Zo-I-cn-°p-I. (]mTw 4 t\m°pI)

An economy is a framework where all economic activities are carried out. Explain how?

(See Lesson 4)

(b) sXm-gn¬ Xo-{h km-t¶-Xn-I hn-Zy-bpw ap-tJ-\ Xo-{h-km-t¶-Xn-I hn-Zy-bpw X-Ωn-ep-≈

hy-Xym-k-sa-¥v?   (]mTw 7 t\m°pI)

Distinguish between labour intensive technology and capital intensive technology.

   (See Lesson 7)
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3. Xmsg sImSp-Øn-cn-°p∂ \mev tNmZy-ß-fn¬ GsX-¶nepw H∂v 40-̨ 60 hm°p-I-fn¬

DØ-c-sa-gp-Xp-I. 2×1=2

Answer any one out of the following four questions in about 40-60 words:

(a) Zp¿-e-`-am-b hn-`-h-ßƒ ap-gp-h-\m-bpw D-]-tbm-Kn-°-s∏-´n-s√-¶n¬ A-Xv ]m-gm-bn-t∏m-b

hn-`-h-ß-fm-Wv F-∂-Xn-t\m-Sv \n-ßƒ tbm-Pn-°p-tam? hym-Jym-\n-°p-I

(]mTw 5 t\m°pI)

Do you agree that if the scarce resources are not utilized fully, it is wastage of resources? Comment.

(See Lesson 5)

(b) H-cp k-º-Zv hy-h-ÿ-bn¬ km-[-\-ß-fpw tk-h-\-ß-fpw {]-[m-\-s∏-´ H-cp ]-¶v h-ln-

°p-∂p. hn-i-Z-am-°p-I. (]mTw 3 t\m°pI)

Goods and services play an important role in an economy. Explain. (See Lesson 3)

4. Xmsg sImSp-Øn-cn-°p∂ tNmZy-ß-fn¬ GsX-¶nepw HscÆ-Øn\v 100-̨ 150 hm°p-I-

fn¬ DØ-c-sa-gp-Xp-I. (4)

Answer any one out of the following four questions in about 100-150 words:

(a) hm-kv-X-hn-I k-º-Zv hy-h-ÿ-bpw {]m-am-Wn-I k-º-Zv hy-h-ÿ-bpw X-Ωn-ep-≈ hy-

Xym-k-sa-¥v? D-Zm-l-c-W-k-ln-Xw hy-‡-am-°p-I. (]mTw 1 t\m°pI)

How does positive economics differ from normative economics? Explain with illustrations.

(See Lesson 1)

(b) km-ln¬ H-cp kw-cw-`-I-\m-Im≥ B-{K-ln-°p-∂p. H-cp kw-cw-`-I-\v F-∂ \n-e-bn¬

G-sX-√mw Np-a-X-e-I-fm-Wv A-t±-lw \n¿-Δ-ln-t°-≠-Xv? (]mTw 6 t\m°pI)

Sahil wants to become an entrepreneur. What functions does he need to perform as an entrepreneur?

(See lesson 6)

5. Xmsg sImSp-Øn-cn-°p∂ tNmZy-ß-fn¬ GsX-¶nepw H∂v 100-̨ 150 hm°p-I-fn¬ DØ-c-sa-

gp-Xp-I. (4)

Answer any one of the following four questions in about 100-150 words:

(a) km-¶¬-]n-I-am-b A-°-ß-fp-tS-tbm ]-́ n-I-bp-tS-tbm k-lm-b-Øm¬ tNm-Z-\ \n-b-a-

sØ hn-i-Z-am-°p-I. (]mTw 9 t\m°pI)

State and explain the law of demand with the help of a hypothetical numerical example/schedule.

(See Lesson-9)

(b) H-cp k-º-Zv hy-h-ÿ-bp-sS Im-X-em-b {]-iv-\-ßƒ D-Zm-l-c-W-k-ln-Xw hy-‡-am-°pI.

(]mTw 5 t\m°pI)

Explain the central problem of an economy with the help of an example. (See Lesson-5)
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6. Xm-sg sIm-Sp-Øn-cn-°p∂ t{]mP-IvSp-I-fn¬ G-sX-¶nepw H-scÆw Xøm-dm-°p-I. (6)

Prepare any one project out of the following projects given below.

(a) D-]-t`m-‡r h-kv-Xp-°-fp-tS-bpw D¬-]m-Z-I h-kv-Xp-°-fp-tS-bpw H-cp ]-´n-I X-øm-dm-°p-

I-bpw, D-]-tbm-K-Øn-s‚ A-Sn-ÿm-\-Øn¬ D-]-t`m-‡r h-kv-Xp-°-fp-w D¬-]m-Z-I h-

kv-Xp-°-fpw X-Ωn-ep-≈ hy-Xym-kw hn-i-Z-am-°p-I-bpw sN-øp-I. (]mTw 3 ImWp-I)

Make a list of consumer and producer goods and try to explain how consumer goods differ from
producer goods on the basis of usage. (See Lesson 3)

(b) Xm-sg sIm-Sp-Øn-cn-°p-∂ ]-´n-I-bp-sS k-lm-b-Øm¬ ko-a-¥ D-ev-]-∂-hpw i-cm-i-cn

D-ev-]-∂-hpw I-≠p-]n-Sn-°p-I. (]mTw 7 ImWp-I)

Calculate marginal product and average product with the help of the following table.
(See Lesson-7)

sXmgn¬ bqWn‰v

Units of labour
samØw D¬]∂w bqWn‰v

Total Product (Units)
koa¥ D¬]∂w

Marginal Product
icm-icn D¬]∂w

Average Product

0 10

1 15

2 20

3 27

4 36

5 40
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Krl-imkv{Xw
Home Science (216)

Syq´¿ am¿°vUv Assk≥sa‚ v
Tutor Marked Assignment

]c-am-h[n am¿°v : 20

Max. Marks: 20

Ipdn∏v: (i) F√m tNmZy-ßƒ°pw DØ-c-sa-gp-tX-≠-Xm-Wv. Hmtcm tNmZy-Øn\pw A\p-h-Zn-

®n-́ p≈ am¿°v tNmZy-tØm-sSm∏w sImSp-Øn-cn-°p-∂p.

Note: All questions are compulsory. The marks allowed for each question are given at same place.

(ii) \nß-fpsS t]cv, F≥tdmƒ \º¿, hnjbw XpS-ßnbh DØc-°-S-em-kns‚

BZy t]Pns‚ apIƒ`m-K-Ømbn Fgp-Xp-I.

Write your name, enrolment number, AI name and subject on the top of the first page of the
answer sheet.

1. GsX-¶nepw Hcp tNmZy-Øn\v 40 apX¬ 60 hsc hm°p-I-fn¬ DØcw Fgp-Xp-I. 2

Answer any one of the following question in about 40-60 words.

(a) \nßƒ D®-̀ -£Ww hoSp-I-fn¬ hnX-cWw sNøp∂ kwhn-[m\w XpS-ßm≥ B{K-

ln-°p-∂p. kao-Ir-Xm-lmcw Dƒs°m-≈n-®p-sIm-≠p≈ `£-W-hn-hc ]´nI Xøm-dm-

°p-I. Cu I®-h-S-Øn¬ \nßƒ \ne-\n¿Ønb aq∂v aqey-ßƒ GsX√mw?

(]mTw 3, 21, 22 ImWp-I)

You want to start home delivery food service for lunch. Prepare the menu for the balanced meal to be
served. Which three ethical grounds maintain in your business? (See Lesson 3, 21, 22)

(b) Nph∂ apfIv DW-°p-I-bmWv \nß-fpsS IpSpw-_-sXm-gn¬. Krl-imkv{Xw ]Tn-®-

Xn\p tijw \nßƒ Fß-s\-bmWv IpSpw-_-h-cp-am\w h¿≤n-∏n-®Xv

(]mTw 5, 6 ImWp-I)

Drying of red chilies is your family business. After studying Home Science how can you increase your
family income? (See Lesson 5,16)

2. GsX-¶nepw Hcp tNmZy-Øn\v 40 apX¬ 60 hsc hm°p-I-fn¬ D-Ø-c-sa-gp-XpI 2
Answer any one of the following questions in about 40-60 words.

(a) \gvkdn kvIqfn¬ ]Tn-°p∂ aq∂v apX¬ Bdv hbkv hsc-bp≈ Ip´n-Iƒ°v Hmtcm

h¿jhpw \S-°∂ NmeI hnIm-khpw `mjm hnIm-khpw DZm-l-c-W-k-lnXw hnh-

cn-°p-I. (]mTw 2 ImWpI)

Three to six year old children study in a nursery school. Explain with examples about their motor and
language development in each year. (See lesson 18, 19)

(b) hmbp aen-\o-I-c-Whpw Pe aen-\o-I-c-Whpw \nß-fpsS kaq-l-Ønse P\-ßsf Fßs\

_m[n-°p-∂p-sh∂v Is≠-Øp-I. Cu {]iv\-ßsf AXn-Po-hn-°m≥ \nßƒ°v Fßs\ klm-

bn-°m≥ Ign-bpw. (]mTw 6, 7 ImWpI)
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Find out how the people of your community get affected by air and water pollution. How can you help
them to overcome from it? (See Lesson 6,7)

3. GsX-¶nepw Hcp tNmZy-Øn\v 40- apX¬ 60 hsc hm°pIfn¬ DØcw Fgp-XpI 2
Answer any one of the fillowing question in about 40-60 words.

(a) \nß-fpsS ho´n¬ D]-tbm-Kn-°p∂ Bdp Xcw hkv{X-ßƒ Xnc-s™-Sp-°p-I. XpWn-

bpsS Xcw, s\bvØv, an\p-°p-]Wn F∂nh hnth-Nn®v Fgp-Xp-I.

(]mTw 10, 11 ImWpI)

Select any six kinds of clothes used in your home. Identify their type of fabric, weave and finishes.
(See lesson 10,11)

(b) ]Ww tamjvSn-°p-Ibpw I≈w ]d-bp∂ ioe-hp-ap≈ 18 hb- p≈ Ip´n-bmWv \m\p.

Cu kz`m-h-Øns‚ 4 Imc-W-ßƒ Is≠-Øp-Ibpw AXn\v 4 ]cn-lm-c-ßƒ \n¿t±-in-

°p-Ibpw sNøp-I. (]mTw 1, 2, 3 ImWpI)

Nannu, a 18 year old boy has the habit of stealing money and telling lies. Find out four causes for his
behaviour and suggest four solutions. (See Lesson 1,2,3)

4. GsX-¶nepw Hcp tNmZy-Øn\v 100- apX¬ 150 hsc hm°pIfn¬ DØcw Fgp-XpI (4)
Answer any one of the following questions in about 100 to 150 words.

(a) \nßƒ hnhm-l-Øn\v [cn-°p-hm≥ Hcp kn¬°v hkv{Xw sXcs™Sp-Øn-́ p-≠v. CXp-

ambn _‘-s∏ v́ Xmsg ]d-bp-∂-hbv°v DØcw \¬Ip-I. (]mTw 9, 10 ImWpI)

(i) AXv kn¬°mtWm AtXm at‰-sX-¶nepw XpWn-bmtWm F∂v kv]¿in-®pw,

IØn®p t\m°nbpw hne-bn-cp-Øp-I.

(ii) \nß-fpsS hkv{X-Øn¬ Hcp kpjncw ImWp-∂p. AXns‚ ImcWw Is≠-Øp-

Ibpw Hcp ]cn-lmcw \n¿t±-in-°p-Ibpw sNøp-I.

(iii) \nßƒ Fßs\ AXns\ ]i ap°n DW°n tX°p-sa∂v hni-Zo-I-cn-°p-I.

(iv) \nß-fpsS XpWn-bnse FÆ-°d Fßs\ \o°w sNøpw.

You have taken out your silk dress to wear in a marriage party. In this relation answer the following–

(i) Is it really silk or some other fabric. Then confirm by performing touch and burning tests.

(ii) You found a hole in your dress, tell its reason and suggest a solution.

(iii) How will you starch, dry and iron the dress?

(iv) How will you remove oily marks from your dress? (See Lesson 9,10)

(b) \nßƒ Hcp Iº-\n-bnse 20,000/˛ cq] iº-f-ap≈ apgp-h≥k-ab sXmgn-em-fn-bm-Wv.

CXp-ambn _‘-s∏ v́ Xmsg ]d-bp-∂-hbv°v DØcw Fgp-Xp-I.

(i) cmhnse apX¬ sshIn v́ hsc 12 aWn-°q¿ ssZ¿Ly-ap≈ Hcp ka-b-]-≤Xn

Xøm-dm-°p-I.
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(ii) \nßƒ hmS-I-ap-dn-bn-emWv Xma-kn-°p-∂-sX-¶n¬ Hcp Nnehv ]≤Xn Xøm-dm-°p-I.

(iii) {]`mX `£-W-Øn-s‚bpw, eLp-̀ -£-W-Øn-s‚bpw ]´nI Xøm-dm-°p-I.

(iv) \nß-fpsS BtcmKy \nebpw Pohn-X-ssi-enbpw hni-I-e\w sNøp-I.

(]mTw 3, 7, 8, 15, 16 ImWpI)

You are a full time worker in a company on a salary of 20,000/ pm. In this relation answer the following?

(i) Make a time plan for 12 hours from getting up to returning home.

(ii) Make a spending plan when you are staying in a rented room.

(iii) Make a menu plan for your breakfast and tiffin box.

(iv) Analyse your health dimensions and life style. (See Lesson 3,7,8,15,16)

5. GsX-¶nepw Hcp tNmZy-Øn\v 100- apX¬ 150 hsc hm°pIfn¬ DØcw Fgp-XpI 4
Answer any one of the following questions in about 100 to 150 words.

(a) Irjn-bn-S-ß-fn¬ sNcp-∏n-SmsX \S∂ dlo-an\v AkpJw ]nSn-s∏-́ p. AXp-ambn _‘-

s∏´ Xmsg-∏-d-bp-∂-hbv°v DØcw \¬Ip-I.

(i) AkpJw hcp-hm-\p≈ Imc-W-ßƒ F¥m-bn-cn°pw?

(ii) Ahs‚ Akp-J-Øns‚ c≠v {][m\ e£-W-ßƒ kqNn-∏n-°p-I.

(iii) AXv XS-bm-\p≈ c≠v am¿§-ßƒ \n¿t±-in-°p-I.

(iv) {]Xn-tcm[ i‡n Ipd-™Xp sIm≠mtWm Cu AkpJw D≠m-bXv

(]mTw 6, 7, 8 t\m°p-I)
Rahim fell sick after walking barefoot in the fields. Answer the following in this regard:

(i) What can be possible cause of his sickness?

(ii) Indicate two possible symptoms of his disease.

(iii) Suggest two preventive measures.

(iv) Is this sickness related to low immunity? (See Lesson 6,7,8)

(b) \nßƒ c£m-I¿Øm-°-tfmSpw 22 hb- p≈ ktlm-Z-c-\psam-∏hpw Pohn-°p-∂p.

CXv a\- n¬ Icp-Xn-s°m≠v Xmsg-∏-d-bp-∂-hbv°v DØcw Fgp-Xp-I.

(i) \nß-fpsS IpSpw_w GXv PohnX ÿnXn-bn-em-Wv. hni-Zo-I-cn-°p-I.

(ii) Btcm-Ky-I-c-amb _‘w \ne-\n¿Øm≥ IpSpw-_mw-K-ßƒ F¥v sNøWw

(iii) \nß-fpsS ktlm-Z-c≥ tami-amb Iq´p-sI-´n¬ AI-s∏-SmsX Fßs\ kwc-

£n-°p-∂p.

(iv) \nß-fpsS Pohn-X-Øn¬ IpSpw-_-aq-ey-ß-fpsS {]m[m\ysa¥mWv

(]mTw 17, 20, 21 t\m°pI)

You live with your parents and 22 year old brother. Keeping this in mind, answer the following:

(i) Which life stage is your family undergoing? Explain briefly.



54 Krl-imkv{Xw (Home Science)

(ii) What should the family members do to maintain healthy relationships?

(iii) How will you protect your brother from bad company?

(iv) What is importance of family values in your life? (See lesson 17,20,21)

6. Xmsg ]d-bp-∂ t{]mPIv‰pI-fn¬ HscÆw Xnc-s™-Sp-°p-I. 6

Prepare any one project out of the given below:

(a) \nß-fpsS hoSn-\-Sp-Øp≈ I®-h-S kvYew kμ¿in®v Xmsg-∏-d-bp-∂h \nco-£n®v

Ah-bv°-\p-tbm-Py-amb A`n-{]mbw tcJ-s∏-Sp-Øp-I.

(i) ]mbv°v sNbvX ]Øv hyXyÿ `£W km[-\-ßƒ Xnc-s™-Sp-°p-I. AXv

GXv Blmc KW-Øn¬s∏-Sp-∂p.

(ii) ]Øv hkv{X-ßtfm DSp-∏p-Itfm Xnc-s™-Sp-°p-I. AXv GXn\w \mcm-sW∂v

a\- n-em°n AXv DSp-∏n\v F{X-am{Xw A\p-tbm-Py-am-sW∂v N¿® sNøp-I.

(iii) \mev ho´p-]-I-c-W-ßƒ Xnc-s™-Sp-°p-I. Ah-bpsS \ne-hmc ap{Zbpw Kymc‚nbpw

hne-bn-cp-Øp-I.

(iv) \mev ipNo-I-cW hkvXp-°ƒ Xnc-s™-Sp-°p-I. Hmtcm-∂ns‚ hne, KpW-\n-e-hmcw F∂n-

h-bpsS Nm¿ v́ Xøm-dm-°p-I.

(v) {]Yaip{iq-jm-s∏-́ n-bn-te°v Bh-iy-amb 10 km[-\-ßƒ \n¿t±-in®v Ah Xnc-

s™-Sp-°p-hm-\p≈ Imc-W-ßfpw hy‡-am-°p-I.

(vi) c≠p hb- p≈ Hcp Ip´n°v \√ NmeI hnImkw D≠m-°p-∂-Xn-\p≈ 4 Ifn-∏m-́ -ßƒ

Xnc-s™-Sp-°p-I. AXn-\p≈ Imc-Whpw hy‡-am-°p-I.

(A≤ymbw 3, 5, 10, 12, 13, 18, 22 ImWpI)

Visit your nearby market and identify the following and give suitable comments on that:

(i) Select 10 different packaged foods, Identify the major food group in the food item.

(ii) Select 10 clothes or garments. Identify the fiber each and discusss its suitability for the garment.

(iii) Select 4 household gadgets. Identify the standard mark and availability of guarantee card.

(iv) Choose 4 cleaning agents for your house. Prepare a chart of the cost and advantages of each.

(v) Suggest any 10 items required for a first-aid box, with justifications.

(vi) Suggest any 4 toys for 2 year child to better fine motor development. Justify your answer.

(See Lesson, 3,5,10,12,13,18,22)

(a) \nß-fpsS Np‰p-ap≈ IpSpw-_-ßsf \nco-£n® tijw Xmsg-∏-d-bp-∂-hbv°v DØcw

Fgp-Xp-I.

(i) c≠v Ab¬ho-Sp-Iƒ kμ¿in®v GXv Xc-Øn-ep≈ I°q-kmWv D]-tbm-Kn-°p-

∂-sX∂v Adn-bp-I. Ah¿ AXv Xnc-s™-Sp-°m≥ Hcp ImcWw Fgp-Xp-I. Ah-

bpsS c≠v KpW-ßfpw c≠v tZmj-ßfpw Fgp-Xp-I.
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(ii) ]¿∏-SIw D≠m°n IpSpw_ hcp-am\w h¿≤n-∏n-°m≥ B{K-ln-°p∂ Hcp

kv{Xo°v \n¿Δ-l-W-Øns‚ XXz-ßsf ASn-ÿm-\-am°n \mev \n¿t±-i-ßƒ

\¬Ip-I.

(iii) Hcp IpSpw-_-Ønse AwK-ßƒ 8 aWn°v ho´n¬ \n∂p t]mIpw. A—\pw AΩbpw

tPmen-ÿ-e-tØ-°pw Ip´n-Iƒ kvIqfn-te-°pw. {]`mX ̀ £-W-Øn-s‚bpw ]mbv°v

sNbvXp-sIm-≠p-t]m-Ip∂ D®-̀ -£-W-Øn-s‚bpw ]≤Xn Xøm-dm-°p-I.

(iv) B IpSpw-_-Øns‚ cmhnse 6 apX¬ 8 aWn hsc-bp≈ ka-b-hn-hc ]´nI

Xømdm-°p-I.

(v) 18 hb- p≈ Hcp hy‡n F∂ \ne-bn¬ \nßƒ \nß-fpsS 12 hb- p≈

ktlm-Z-cn-bp-sSbpw 16 hb- p≈ ktlm-Z-c-s‚bpw imco-cnI hf¿®sb \nco-

£n-°p-tºmƒ ImWp∂ \mev hyXym-k-ßƒ Fs¥√mw?

(vi) \nß-fpsS kplrØv ASpØ ImeØv hmßnb d{^n-P-td-‰-dn\v Nne A]m-I-X-

Iƒ D≠v. \nßƒ°v ]cn-Nn-X-amb D]-t`m‡r kwc-£W \nb-a-a\pk-cn®v

\nß-fpsS kplr-Øns\ klm-bn-°p-I. (]mTw 3,5,10,12,13,18,22 ImWp-I)

Answer the following questions by observing families around you–

(i) Visit two neighbours and inquire about which type of toilets do the families use? Write one reason
for their choice. Write two advantages and disadvantages of the toilets used.

(ii) Based on the principles of management give four suggestions to a woman who wants to increase her
family income by making papad.

(iii) A family leaves home at 8.00 am : The mother & father go to work and the child goes to school. Plan
their breakfast and packed lunch.

(iv) Prepare a time plan for the family from 6.00 am to 8.00 am.

(v) As an 18 year old, what four differences will your observe in the physical growth of your 12 year old
sister and 16 year old brother? Discuss the four life skills you will help them develop.

(vi) Your friend is having problems with a recently purchased refrigrator. Using your knowledge of
Consumer Protection Act, help your friend. (See Lesson 3,5,10,12,13,18,22)
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A°u-≠≥kn
Accountancy (224)

Syq´¿ am¿°Uv Assk≥sa‚ v
Tutor Marked Assignment

BsI- am¿°v : 20
Max. Marks: 20

\n¿t±-i-ßƒ: (i) F√m tNmZy-ßfpw \n¿∫-‘-am-Wv. Hmtcm-∂n-s‚bpw aqeyw AXm-Xn-SØv tcJ-s∏-Sp-

Øn-bn-́ p≠v.

Note: All questions are compulsory. The marks allowed for each question are given at same place.

(ii) \nß-fpsS t]cv, {Ia-\-º¿, ]T-\-tI-{μ-Øns‚ t]cv, hnj-bw, F∂nh H∂m-asØ ]pd-

Øns‚ apI-fn¬ Xs∂ Fgp-Xp-I.

Write your name, enrolment number, AI name and subject on the top of the first page of the
answer sheet.

1. Xmsg sIm-Sp-Øn-cn-°p-∂- tNmZy-ß-fn¬ GsX-¶nepw H∂n-\v 40˛60 hm°p-I-fn¬ DØ-c-sa-gpXpI. (2)
Answer any one of the following questions in about 40-60 words.

(a) A-°u-≠nw-Kv D]-tbm-Kn-°p-tºmƒ \mw t\cn-Sp∂ {]iv\-ßƒ Fs¥-√m-sa∂v hniZo-

I-cn-°p-I (]mTw 1 ImWpI)
Which problems you might face in using accounting?  (See lesson 1)

(b) Hcp \nt£-]-I≥ \nt£]w \S-Øp∂ ka-bØv A°u-≠nwKv C≥s^m¿ta-j≥

]cn-K-Wn-t°-≠-Xpt≠m? (]mTw 1 ImWp-I)

Should accounting information be considered by investor at the time of investment? (Lesson 5)

2. Xmsg-]-d-bp-∂-h-bn¬ GsX-¶nepw Hcp tNmZy-Øn\v 40˛60 hm°p-I-fn¬ Fgp-Xp-I (2 am¿-°v)

Answer any one of the following in about 40-60 words each. 2x1=2

(a) \nßƒ Hcp _nkn-\ v \S-Øp-I-bm-Wv. _nkn-\ v \S-Øp-tºmƒ ]W-]-c-am-bXpw ]W-]-c-

a-√m-Ø-Xp-amb CS-]m-Sp-Iƒ tcJ-s∏-Sp-Øm-dpt≠m? Hcp DZm-l-cW klnXw Cu Bibw

hni-Zo-I-cn-°p-I. (]mTw 2)

You are running a business. Do you record the monetary and non-monetary transactions in accounting
during business? Explain this concept with an example. (See lesson 2)

(b) Hcp _nkn-\- ns‚ {]h¿Ø-\-ßƒ°v Ipd®v BkvXn-Iƒ AXym-h-iy-am-Wv. hnhn[ Xc-Øn-

ep≈ BkvXn-I-sf-°p-dn®v aq∂v DZm-l-c-W-ßƒ hoXw \¬In hni-Zo-I-cn-°p-I. (]mTw 3)

It is necessary to have some assets to run a business. Explain the different forms of these assets with three
examples each. (See lesson 3)

3. Xmsg- sImSp-Øn-cn-°p∂ tNmZy-ß-fn¬ GsX-¶nepw H∂n\v 41˛60 hm°p-I-fn¬ DØcsagp-Xp-I. (2)

Answer any one of the following in about 40-60 words each.

(a) A°u-≠nwKv ka-bØv _nkn-\ v CS-]m-Sp-Iƒ tcJ-s∏-Sp-Øp-tºmƒ D]-tbm-Kn-°p∂ hnhn-

[-Xcw hut®gvkv GsXm-s°-bm-sW∂v hni-Z-am-°p-I. (]mTw 5 ImWp-I)

Explain the different forms of vouchers used in recording business transactions during accounting.

(See lesson 5)
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(b)  doI¨ko-en-tb-j≥ ka-bØv Iymjv _p°v _me≥kpw _m¶v ]mkv _p°v _me≥kpw

XΩn¬ hyXymkw hcm-dp-≠v. hyXymkw hcp-Øp∂ GsX-¶nepw \mev Imc-W-ßƒ Npcp°n

hni-Zo-I-cn-°p-I. (]mTw 2 ImWpI)

Explain any four reasons behind the causes of difference in Cash Book of business and Bank Pass Book
at the time of reconciliation. (See lesson 2)

3. Xmsg- sImSp-Øn-cn-°p∂ tNmZy-ß-fn¬ GsX-¶nepw H∂n\v 100˛150 hm°p-I-fn¬ DØcw Fgp-Xp-I. (2)

Answer any one out of the following questions in about 100 to 150 words.

(a) \nßƒ Hcp _nkn-\ v ÿm]-\-Ønse A°u-≠‚m-Wv. Xmsg \¬In-bn-cn-°p∂ CS-]m-Sp-

Iƒ tP¿W-ssekv sNøp-I. (]mTw 6 ImWp-I)

            (Rs.)

(i) _nkn-\ v Bcw-̀ n-®-t∏m-gp≈ XpI 30,000

(ii) ]Ww sImSpØv km[-\-ßƒ hmßn-bXv 12,000

(iii) kptc-jn\v km[-\-ßƒ hn‰Xv 10,000

(iv) tÃj-\dn hmßn-bXv 2,000

(a)   You are an accountant in a business. Journalise the following transactions. (See lesson 6)

(Rs.)

(i) Started business with cash 30,000

(ii) Goods purchased in cash 12,000

(iii) Goods sold to Suresh 10,000

(iv) Stationary purchase 2,000

(b) Hcp ÿm]-\-Ønse _m[y-X-Iƒ sImSpØp Xo¿°m-\p-≈-Xm-Wv. Hcp ÿm]-\-Øns‚

sImSpØv Xo¿t°≠ _mly _m[y-X-Ifpw B¥n-cI _m[y-X-Ifpw DZm-l-c-W-k-lnXw

hni-Z-am-°p-I. (]mTw 3 ImWpI)

You have to pay liabilities in a firm. Explain the external and internal liabilities payable in the firm with
examples (See lesson 3)

6.   Xmsg- sImSp-Øn-cn-°p∂ tNmZy-ß-fn¬ GsX-¶nepw H∂n\v 100˛150 hm°p-I-fn¬ DØcw Fgp-Xp-I.          (4)

Answer any one out of the following questions in about 100 to 150 words.

(a) {io. ctajv 25,000 cq] aqe-[\w apS¡n _nkn-\Êv Bcw-̀ n-̈ p. Xmsg sImSp-̄ n-cn-¡p¶ CS-]m-

Sp-I-fnÂ \n¶pw Iymjv _p¡v X¿m-dm-¡p-I.      (]mTw 7 ImWpI)

            (Rs.)

(i) ]Ww \¬In km[-\-ßƒ hmßn-bXv 7,000

(ii) tÃj-\dn hmßn-bXv 1,200

(iii) km[-\-ßƒ ]W-Øn\v hn‰Xv 5,000

(iv) iºfw \¬In-bXv 1,500

(v) sshZypXn sNehv \¬In-bXv 400
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      Ramesh started business with cash of Rs 25,000. Prepare cash book from following transactions
(See lesson 7)

                                                                   (Rs.)

(i) Goods purchased cash 7,000

(ii) Stationary purchased 1,200

(iii) Goods sold cash 5,000

(iv) Salaries paid 1,500

(v) Electric expenses paid 400

(b) \n§Ä Hcp Øm]-\-̄ nsâ skbnÂkv amt\-P-cm-Wv. \n§Ä \S-̄ nb \mev km¦Â¸nI

CS-]m-Sp-IÄ tcJ-s -̧Sp¯n skbnÂkv _p¡v X¿m-dm-¡p-I.      (]mTw 9 ImWpI)

You are sales manager in a firm. Prepare a sales books mentioning the four imaginary transactions of sales
made by you. (See lesson 9)

6. Xmsg sImSp-Øn-cn-°p-∂-h-bn¬ \n∂v GsX-¶n-ep-samcp t{]mPIvSv Xøm-dm-°pI  (4)

       Prepare a project on any one of the following.

(a) km¶¬∏nI kwJy-Iƒ D]-tbm-Kn®v _m¶v doI¨ko-en-tb-j≥ tÃ‰vsa‚ns‚

t^m¿am‰v Xøm-dm-°p-I. (]mTw 8 ImWp-I)

Prepare a performa of bank reconciliation statement with imaginary figures (See lesson 8)

(b) _m¶v tImfw Iymjv _p°ns‚ s]¿t^ma km¶¬∏nI kwJy-Iƒ D]-tbm-Kn®v

Xøm-dm-°p-I. (]mTw 7 ImWp-I)

Prepare a performa of Bank column Cash Book with imaginary figures. (See lesson 7)
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_nkn-\ v ÃUokv
Business Studies

(215)
Syq´¿ am¿°vUv Assk≥sa‚ v

Tutor Marked Assignment
]c-am-h[n am¿°v: 20

Max. Marks: 20

Ipdn∏v: (i) F√m tNmZy-ßƒ°pw DØ-c-sa-gp-tX-≠-Xm-Wv. Hmtcm tNmZy-Øn-\p-ap≈ am¿°v

tNmZy-tØm-sSm∏w sImSp-Øn-cn-°p-∂p.

Note: All questions are compulsory. The marks allowed for each question are given at same place.

(ii) \nß-fpsS t]cv, F≥tdmƒsa‚ v \º¿, hnjbw XpS-ßnb DØ-c-°-S-em-kns‚

apI-fn¬ Fgp-tX-≠-Xm-Wv.

Write your name, enrolment number, AI name and subject on the top of the first page of the
answer sheet.

1- Xmsg sImSp-Øn-cn-°p∂ tNmZy-ß-fn¬ GsX-¶nepw HscÆw 40-̨ 60 hm°p-I-fn¬ DØ-c-

sa-gp-Xp-I.

Answer any one of the following questions in about 40-60 words:

(a) A¥-co£ aen-\o-I-cWw XS-bp-∂-Xn¬ C¥y-bpsS ]¶v F¥m-sW∂v {]Xn-]m-Zn-

°p-I. (]mTw 1 ImWpI)

Discuss the role of India in preventing environmental pollution. (See Lesson 1)

(b) Hcp _nkn-\- p-Im-c≥ F∂ \ne-bn¬ Xm¶-fpsS _nkn-\- ns‚ ssZ\w-Zn\ \S-Øn-
∏n-\p-th≠n sNøp∂ hnhn[ {]h¿Ø-\-ßƒ Fs¥-√m-sa∂v hnh-cn-°p-I.

(]mTw 2 ImWp-I)

As a businessman, state the different types of activities you would undertake in your day to day running
of your business. (See Lesson 2)

2- Xmsg sImSp-Øn-cn-°p∂ tNmZy-ß-fn¬ GsX-¶nepw H∂n\v 40-̨ 60 hm°p-I-fn¬ DØ-c-sa-

gp-Xp-I. 2

Answer any one of the following questions in about 40-60 words:

(a) GImwK DS-a-ÿXm _nkn-\- p-Iƒ XpS-ßm\pw Ah-km-\n-∏n-°m\pw Ffp-∏-am-Wv.

CØcw _nkn-\- p-Iƒ F∂-t∂-°p-ambn \ne-\n¬°m-dpt≠m?

(]mTw 3 ImWpI)

Sole proprietorship business is easy to form and wind up. Can a sole proprietorship form of business
organisation exist forever? (See Lesson 3)

(b) km[-\-ß-fp-sSbpw Bfp-I-fp-sSbpw \o°-ßƒ Hcp _nkn-\- n¬ hfsc {][m-\-s∏-

-́Xm-Wv. Cu {]kvXm-h-\-bpsS ASn-ÿm-\-Øn¬ Hcp _nkn-\- n¬ KXm-K-X-Øns‚

{]m[m\yw F¥m-sW∂v hnh-cn-°p-I. (]mTw 5 ImWpI)
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‘The movement of goods and persons is very important in business’. In light of the statement discuss the
importance of transport in business. (See Lesson 5)

3- Xmsg sImSp-Øn-cn-°p∂ tNmZy-ß-fn¬ GsX-¶nepw HscÆw 40-̨ 60 hm°p-I-fn¬ DØ-c-

sa-gp-XpI 2

Answer any one of the following questions in about 40-60 words:

(a) ""FgpØp cq]-Øn-ep≈ ktμ-i-ßƒ Ab-bv°m≥ D]-tbm-Kn-°m-hp∂ Hcp AXn-

thK coXn-bmWv C -̨sa-bn¬.'' hni-Zo-I-cn-°pI (]mTw 7 ImWpI)

“E-mail is the fastest method of transmitting written messages”. Explain. (See Lesson 7)

(b) tKmUu-Wp-Iƒ Hcp {][m-\-s∏´ I®-hS klm-bn-bm-Wv. Cu {]kvXm-h\ hni-Zo-I-

cn-°p-I. (]mTw 6 ImWp-I)

Warehousing is one of the important auxiliaries to trade. Explain this statement. (See Lesson 6)

4- Xm-sg X-∂n-cn-°p∂ tNm-Zy-ß-fn¬ \n-∂v G-sX-¶nepw H-sc-Æw 100˛150 hm-°p-I-fn¬ DØ-

csa-gp-XpI 4

Answer any one of the following questions in about 100-150 words:

(a) DS-a-ÿ-X-bpsS ASn-ÿm-\-Øn¬ Iº-\n-Isf \membn Xcw Xncn-°mw. hnhn[ Xcw

Iº-\n-I-fpsS kz`mh khn-ti-j-X-Iƒ hnh-cn-°p-I. (]mTw 4 ImWpI)

On the basis of ownership companies can be of four types. Discuss the characteristics of these different
types of companies. (See Lesson-4)

(b) ]ªnIv s{]mhn-U‚ v ^≠v A°u-≠ns‚ kz`m-h-ßƒ GsX√mw?

(]mTw 8 ImWpI)

State the characteristics of Public Provident Fund Account. (See Lesson-8)

5- Xmsg sImSp-Øn-cn-°p∂ tNmZy-ß-fn¬ GsX-¶nepw HscÆw 100-̨ 150 hm°p-I-fn¬ DØ-

c-sa-gp-Xp-I. 4

Answer any one of the following questions in about 100-150 words:

    (a) _m¶nwKv taJ-e-bn¬ ASp-ØnsS D≠mb hnI-k-\-ßfpw D]-t`m-‡m-°ƒ°v

\¬Ip∂ B[p-\nI kuI-cy-ßfpw Fs¥-√m-sa∂v hni-Zo-I-cn-°p-I.

(]mTw 9 ImWpI)

Explain the recent developments in the field of banking and the latest facilities offered to its customers.
(See Lesson 9)

(b) "Hcp shb¿lu-kns\ amXr-Im-]-c-amb shb¿lukv F∂p ]d-b-W-sa-¶n¬ AXn\v

Nne {]tXyI kz`mh khn-ti-j-X-Iƒ D≠m-bn-cn-°-Ww.' hnh-cn-°p-I.

(]mTw 6 ImWpI)

‘A warehouse is said to be an ideal warehouse if it possesses certain characteristics’. Explain.

(See Lesson 6)
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6- Xm-sg X-∂n-cn-°p-∂hbn¬ \n∂v G-sX-¶nepw HscÆw sXc-s™-SpØv Hcp s{]mP-Œv

X-øm-dm°pI. 6

Prepare any one project out of the following projects given below.

(a) sXm -́Sp-Øp≈ Hcp _m¶v kμ¿in-°p-Itbm As√-¶n¬ tSmƒ {^o \º-dn¬ t^m¨

sNøp-Itbm sNbvXn´v tkhnßvkv _m¶v A°u≠v XpS-ßp-∂-sX-ß-s\-sb∂v

At\z-jn®v Hcp dnt∏m¿ v́ Xøm-dm-°p-I. (]mTw 9 ImWpI)

Visit a nearby bank, else call on toll free number and enquire the procedure to open a savings bank
account. Make a report. (See Lesson-9)

(b) \nß-fpsS {]tZ-i-Øp≈ Hcp tIm -̨Hm-∏-td-‰ohv skmssk‰n kμ¿in-°p-I. AhnsS

\S-°p∂ hnhn[ {]h¿Ø-\-ß-sf-°p-dn®pw Ah¿ t\cn-Sp∂ sh√p-hn-fn-I-sf-°p-

dn®pw Ahn-sS-bp≈ AwK-ß-fpsS FÆ-sØ-°p-dn®pw Hcp dnt∏m¿ v́ Xøm-dm-°p-I.

(]mTw 5 ImWpI)

Visit a cooperative society in your locality. Make a report on the activities undertaken, challenges faced
and number of members in the society. (See Lesson-5)


